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$47D45>F>4 EE5<O 6>4>E=4565=<O < 6>4>>F6545=<O 6O?>?=5=4 6 E>>F65FEF6<< 

E FD55>64=<O<< $545D4?L=>7> 74>>=4 >F 07.12.2011 7>44 7 416-$� «� 

6>4>E=4565=<< < 6>4>>F6545=<<». 

%E5<4 6>4>E=4565=<O < 6>4>>F6545=<O D47D454FO645FEO 6 F5?OE 

G4>6?5F6>D5=<O E?D>E4 =4 E>?>4=GN, 7>DOGGN 6>4G < >F6>4 EF>>>6, >55E?5G5=<O 

=4456=>7> 6>4>E=4565=<< < 6>4>>F6545=<O =4<5>?55 M>>=><<G=O< E?>E>5>< ?D< 

<<=<<4?L=>< 6>745=EF6<< =4 >>DG64NMGN ED54G, 4 F4>65 M>>=><<G5E>>7> 

EF<<G?<D>64=<O D476<F<O E<EF5< 6>4>E=4565=<O < 6>4>>F6545=<O < 6=54D5=<O 

M=5D7>E55D574NM<E F5E=>?>7<=. 

%E5<4 6>4>E=4565=<O < 6>4>>F6545=<O D47D45>F4=4 =4 >E=>65 E?54GNM<E 

?D<=F<?>6: 

- >55E?5G5=<5 <5D>?D<OF<=, =5>5E>4<<OE 4?O >EGM5EF6?5=<O 7>DOG57>, 

?<FL56>7>, F5E=<G5E>>7> 6>4>E=4565=<O < 6>4>>F6545=<O 6 E>>F65FEF6<< E 

FD55>64=<O<< 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<<; 

- >55E?5G5=<5 557>?4E=>EF< < =4456=>EF< 6>4>E=4565=<O < 6>4>>F6545=<O 

?>FD55<F5?5= 6 E>>F65FEF6<< E FD55>64=<O<< F5E=<G5E><E D57?4<5=F>6; 

- >55E?5G5=<5 GF65D645==OE 6 E>>F65FEF6<< E =4EF>OM<< $545D4?L=O< 

74>>=>< ??4=>6 E=<65=<O E5D>E>6; 

- >55E?5G5=<5 ??4=>6 <5D>?D<OF<= ?> ?D<6545=<N >4G5EF64 6>4O 6 

E>>F65FEF6<5 E GEF4=>6?5==O<< FD55>64=<O<<; 

- E>5?N45=<5 54?4=E4 M>>=><<G5E><E <=F5D5E>6 >D74=<74F<= 

>55E?5G<64NM<E 6>4>E=4565=<O, 6>4>>F6545=<5 < ?>FD55<F5?5=; 

- <<=<<<74F<< 74FD4F =4 6>4>E=4565=<5 < 6>4>>F6545=<5 6 D4EG5F5 =4 

>464>7> ?>FD55<F5?O 6 4>?7>ED>G=>= ?5DE?5>F<65; 

- <<=<<<74F<< 6D54=>7> 6>745=EF6<O =4 >>DG64NMGN ED54G; 

- >55E?5G5=<5 =5 4<E>D<<<=4F<>==OE < EF45<?L=OE GE?>6<= >EGM5EF6?5=<O 

?D54?D<=<<4F5?LE>>= 45OF5?L=>EF< 6 ED5D5 6>4>E=4565=<O < 6>4>>F6545=<O; 

- E>7?4E>64==>EF< EE5< 6>4>E=4565=<O < 6>4>>F6545=<O E <=O<< 

?D>7D4<<4<< D476<F<O E5F5= <=65=5D=>-F5E=<G5E>>7> >55E?5G5=<O; 

- >55E?5G5=<5 M>>=><<G5E>< >5>E=>64==>= 4>E>4=>EF< F5>GM5= 
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45OF5?L=>EF< >D74=<74F<= >55E?5G<64NM<E 6>4>E=4565=<5 < 6>4>>F6545=<5 < 

<E?>?L7G5<>7> ?D< >EGM5EF6?5=<< D57G?<DG5<OE 6<4>6 45OF5?L=>EF< 6 ED5D5 

6>4>E=4565=<O < 6>4>>F6545=<O <=65EF<D>64==>7> >4?<F4?4. 

&5E=<G5E>4O 5474 4?O D47D45>F>< EE5< 6>4>E=4565=<O < 6>4>>F6545=<O: 

3 75=5D4?L=O= ??4= ?>E5?5=<O < <G=<F<?4?L=>7> D4=>=4; 

3M>E??G4F4F<>==4O 4>>G<5=F4F<O (D4EG5F=O5 F45?<FO >>?<G5EF64 

745<D45<>= 6>4O <7 <EF>G=<>>6, >5N5< >F6>44 EF>>>6 =4 >G<EF=O5 E>>DG65=<O, 

44==O5 ?> ?>FD55?5=<N E>?>4=>=, 7>DOG5= 6>4O, >5N5< >F6>44 EF>>>6 >F 

?>FD55<F5?5= < F.?.); 

3 >>=EFDG>F<6=O5 44==O5 ?> 6<44< ?D>>?44><, ED>>< M>E??G4F4F<< E5F5= 

6>4>E=4565=<O < 6>4>>F6545=<O, >>=D<7GD4F<O; 

3 44==O5 F5E=>?>7<G5E>>7> < >><<5DG5E>>7> GG5F4 ?>FD55?5=<O E>?>4=>= < 

7>DOG5= 6>4O; 

3 4>>G<5=FO ?> E>7O=EF65==>= < D<=4=E>6>= 45OF5?L=>EF< (45=EF6GNM<5 

=>D<4F<6O, F4D<DO < <E E>EF46?ONM<5, 4>7>6>D4 =4 ?>EF46>G E>?>4=>= < 7>DOG5= 

6>4O, >F6>4 EF>>>6, 44==O5 ?> ?>FD55?5=<N E>?>4=>=, 7>DOG5= 6>4O < >F6>4 

EF>>>6 =4 E>5EF65==O5 =G64O, ?> ?>F5DO< < F.4.); 

3 EF4F<EF<G5E>4O >FG5F=>EFL >D74=<74F<< > 6OD45>F>5 < >F?GE>5 E>?>4=>=, 

7>DOG5= 6>4O, ?D<5< EF>>>6 6 =4FGD4?L=>< < EF><<>EF=>< 6OD465=<<. 

&5D<<=O < >?D545?5=<O 

- 45>=5=F 2 D<7<G5E>>5 ?<5> ND<4<G5E>>5 ?<F>, 74>?NG<6L55 <?< >5O74==>5 

74>?NG<FL 4>7>6>D 7>DOG57> 6>4>E=4565=<O, E>?>4=>7> 6>4>E=4565=<O < (<?<) 

4>7>6>D 6>4>>F6545=<O, 54<=O= 4>7>6>D E>?>4=>7> 6>4>E=4565=<O < 

6>4>>F6545=<O; 

- 6>4>>F6545=<5 2 ?D<5<, FD4=E?>DF<D>6>4 < >G<EF>4 EF>G=OE 6>4 E 

<E?>?L7>64=<5< F5=FD4?<7>64==>= E<EF5<O 6>4>>F6545=<O; 

- 6>4>?>47>F>6>4 2 >5D45>F>4 6>4O, >55E?5G<64NM4O 55 <E?>?L7>64=<5 6 

>4G5EF65 ?<FL56>= <?< F5E=<G5E>>= 6>4O; 

- 6>4>E=4565=<5 2 6>4>?>47>F>6>4, FD4=E?>DF<D>6>4 < ?>44G4 ?<FL56>= <?< 

F5E=<G5E>>= 6>4O 45>=5=F4< E <E?>?L7>64=<5< F5=FD4?<7>64==OE <?< 

=5F5=FD4?<7>64==OE E<EF5< E>?>4=>7> 6>4>E=4565=<O (E>?>4=>5 6>4>E=4565=<5) 
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<?< ?D<7>F>6?5=<5, FD4=E?>DF<D>6>4 < ?>44G4 7>DOG5= 6>4O 45>=5=F4< E 

<E?>?L7>64=<5< F5=FD4?<7>64==OE <?< =5F5=FD4?<7>64==OE E<EF5< 7>DOG57> 

6>4>E=4565=<O (7>DOG55 6>4>E=4565=<5); 

- 6>4>?D>6>4=4O E5FL 2 >><??5>E F5E=>?>7<G5E>< E6O74==OE <564G E>5>= 

<=65=5D=OE E>>DG65=<=, ?D54=47=4G5==OE 4?O FD4=E?>DF<D>6>< 6>4O, 74 

<E>?NG5=<5< <=65=5D=OE E>>DG65=<=, <E?>?L7G5<OE F4>65 6 F5?OE 

F5??>E=4565=<O; 

- 74D4=F<DGNM4O >D74=<74F<O 2 >D74=<74F<O, >EGM5EF6?ONM4O E>?>4=>5 

6>4>E=4565=<5 < (<?<) 6>4>>F6545=<5, >?D545?5==4O D5L5=<5< >D74=4 <5EF=>7> 

E4<>G?D46?5=<O ?>E5?5=<O, 7>D>4E>>7> >>DG74, >>F>D4O >5O74=4 74>?NG<FL 

4>7>6>D E>?>4=>7> 6>4>E=4565=<O, 4>7>6>D 6>4>>F6545=<O, 54<=O= 4>7>6>D 

E>?>4=>7> 6>4>E=4565=<O < 6>4>>F6545=<O E ?N5O< >5D4F<6L<<EO > =5= ?<F><, 

GL< >5N5>FO ?>4>?NG5=O (F5E=>?>7<G5E>< ?D<E>54<=5=O) > F5=FD4?<7>64==>= 

E<EF5<5 E>?>4=>7> 6>4>E=4565=<O < (<?<) 6>4>>F6545=<O; 

(6 D54. $545D4?L=>7> 74>>=4 >F 30.12.2012 N 318-$�) 

- 7>DOG4O 6>44 2 6>44, ?D<7>F>6?5==4O ?GF5< =47D564 ?<FL56>= <?< 

F5E=<G5E>>= 6>4O E <E?>?L7>64=<5< F5??>6>= M=5D7<<, 4 ?D< =5>5E>4<<>EF< 

F4>65 ?GF5< >G<EF><, E<<<G5E>>= ?>47>F>6>< < 4DG7<E F5E=>?>7<G5E><E 

>?5D4F<=, >EGM5EF6?O5<OE E 6>4>=; 



 

 9 

 

 

- <=65EF<F<>==4O ?D>7D4<<4 >D74=<74F<<, >EGM5EF6?ONM5= 7>DOG55 

6>4>E=4565=<5, E>?>4=>5 6>4>E=4565=<5 < (<?<) 6>4>>F6545=<5 (44?55 F4>65 2 

<=65EF<F<>==4O ?D>7D4<<4), 2 ?D>7D4<<4 <5D>?D<OF<= ?> EFD><F5?LEF6G, 

D5>>=EFDG>F<< < <>45D=<74F<< >5N5>F>6 F5=FD4?<7>64==>= E<EF5<O 7>DOG57> 

6>4>E=4565=<O, E>?>4=>7> 6>4>E=4565=<O < (<?<) 6>4>>F6545=<O; 

- >4=4?<74F<>==4O E5FL 2 >><??5>E F5E=>?>7<G5E>< E6O74==OE <564G E>5>= 

<=65=5D=OE E>>DG65=<=, ?D54=47=4G5==OE 4?O FD4=E?>DF<D>6>< EF>G=OE 6>4; 

- >4G5EF6> < 557>?4E=>EFL 6>4O (44?55 2 >4G5EF6> 6>4O) 2 E>6>>G?=>EFL 

?>>474F5?5=, E4D4>F5D<7GNM<E D<7<G5E><5, E<<<G5E><5, 54>F5D<>?>7<G5E><5, 

>D74=>?5?F<G5E><5 < 4DG7<5 E6>=EF64 6>4O, 6 F>< G<E?5 55 F5<?5D4FGDG; 

- >><<5DG5E><= GG5F 6>4O < EF>G=OE 6>4 (44?55 F4>65 2 >><<5DG5E><= GG5F) 

2 >?D545?5=<5 >>?<G5EF64 ?>44==>= (?>?GG5==>=) 74 >?D545?5==O= ?5D<>4 6>4O, 

?D<=OFOE (>F6545==OE) EF>G=OE 6>4 E ?><>MLN ED54EF6 <7<5D5=<= (44?55 2 

?D<5>DO GG5F4) <?< D4EG5F=O< E?>E>5><; 

- =5F5=FD4?<7>64==4O E<EF5<4 7>DOG57> 6>4>E=4565=<O 2 E>>DG65=<O < 

GEFD>=EF64, 6 F>< G<E?5 <=4<6<4G4?L=O5 F5??>6O5 ?G=>FO, E <E?>?L7>64=<5< 

>>F>DOE ?D<7>F>6?5=<5 7>DOG5= 6>4O >EGM5EF6?O5FEO 45>=5=F>< E4<>EF>OF5?L=>; 

- =5F5=FD4?<7>64==4O E<EF5<4 E>?>4=>7> 6>4>E=4565=<O 2 E>>DG65=<O < 

GEFD>=EF64, F5E=>?>7<G5E>< =5 E6O74==O5 E F5=FD4?<7>64==>= E<EF5<>= 

E>?>4=>7> 6>4>E=4565=<O < ?D54=47=4G5==O5 4?O >5M57> ?>?L7>64=<O <?< 

?>?L7>64=<O >7D4=<G5==>7> >DG74 ?<F; 

- >5N5>F F5=FD4?<7>64==>= E<EF5<O 7>DOG57> 6>4>E=4565=<O, E>?>4=>7> 

6>4>E=4565=<O < (<?<) 6>4>>F6545=<O 2 <=65=5D=>5 E>>DG65=<5, 6E>4OM55 6 

E>EF46 F5=FD4?<7>64==>= E<EF5<O 7>DOG57> 6>4>E=4565=<O (6 F>< G<E?5 

F5=FD4?L=O5 F5??>6O5 ?G=>FO), E>?>4=>7> 6>4>E=4565=<O < (<?<) 6>4>>F6545=<O, 

=5?>ED54EF65==> <E?>?L7G5<>5 4?O 7>DOG57> 6>4>E=4565=<O, E>?>4=>7> 

6>4>E=4565=<O < (<?<) 6>4>>F6545=<O; 

- >D74=<74F<O, >EGM5EF6?ONM4O E>?>4=>5 6>4>E=4565=<5 < (<?<) 

6>4>>F6545=<5 (>D74=<74F<O 6>4>?D>6>4=>->4=4?<74F<>==>7> E>7O=EF64), 2 

ND<4<G5E>>5 ?<F>, >EGM5EF6?ONM55 M>E??G4F4F<N F5=FD4?<7>64==OE E<EF5< 
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E>?>4=>7> 6>4>E=4565=<O < (<?<) 6>4>>F6545=<O, >F45?L=OE >5N5>F>6 F4><E 

E<EF5<; 

- >D74=<74F<O, >EGM5EF6?ONM4O 7>DOG55 6>4>E=4565=<5, 2 ND<4<G5E>>5 

?<F>, >EGM5EF6?ONM55 M>E??G4F4F<N F5=FD4?<7>64==>= E<EF5<O 7>DOG57> 

6>4>E=4565=<O, >F45?L=OE >5N5>F>6 F4>>= E<EF5<O; 

- >D74= D57G?<D>64=<O F4D<D>6 6 ED5D5 6>4>E=4565=<O < 6>4>>F6545=<O 

(44?55 2 >D74= D57G?<D>64=<O F4D<D>6) 2 G?>?=><>G5==O= >D74= <E?>?=<F5?L=>= 

6?4EF< EG5N5>F4 $>EE<=E>>= $545D4F<< 6 >5?4EF< 7>EG44DEF65==>7> 

D57G?<D>64=<O F4D<D>6 ?<5> 6 E?GG45 ?5D544G< E>>F65FEF6GNM<E ?>?=><>G<= 

74>>=>< EG5N5>F4 $>EE<=E>>= $545D4F<< >D74= <5EF=>7> E4<>G?D46?5=<O 

?>E5?5=<O <?< 7>D>4E>>7> >>DG74, >EGM5EF6?ONM<= D57G?<D>64=<5 F4D<D>6 6 

ED5D5 6>4>E=4565=<O < 6>4>>F6545=<O; 

- ?<FL564O 6>44 2 6>44, 74 <E>?NG5=<5< 5GF<?<D>64==>= ?<FL56>= 6>4O, 

?D54=47=4G5==4O 4?O ?<FLO, ?D<7>F>6?5=<O ?<M< < 4DG7<E E>7O=EF65==>-5OF>6OE 

=G64 =4E5?5=<O, 4 F4>65 4?O ?D><76>4EF64 ?<M56>= ?D>4G>F<<; 

- ?D545?L=O5 <=45>EO <7<5=5=<O F4D<D>6 6 ED5D5 6>4>E=4565=<O < 

6>4>>F6545=<O (44?55 2 ?D545?L=O5 <=45>EO) 2 <=45>EO <4>E<<4?L=> < (<?<) 

<<=<<4?L=> 6>7<>6=>7> <7<5=5=<O 45=EF6GNM<E F4D<D>6 =4 ?<FL56GN 6>4G < 

6>4>>F6545=<5, GEF4=46?<645<O5 6 ED54=5< ?> EG5N5>F4< $>EE<=E>>= $545D4F<< 

=4 7>4, 5E?< <=>5 =5 GEF4=>6?5=> 4DG7<<< D545D4?L=O<< 74>>=4<< <?< D5L5=<5< 

�D46<F5?LEF64 $>EE<=E>>= $545D4F<<, < 6OD465==O5 6 ?D>F5=F4E. '>474==O5 

?D545?L=O5 <=45>EO GEF4=46?<64NFEO < ?D<<5=ONFEO 4> 1 O=64DO 2016 7>44; 

(6 D54. $545D4?L=>7> 74>>=4 >F 30.12.2012 N 291-$�) 

- ?D<7>F>6?5=<5 7>DOG5= 6>4O 2 =47D56 6>4O, 4 F4>65 ?D< =5>5E>4<<>EF< 

>G<EF>4, E<<<G5E>4O ?>47>F>6>4 < 4DG7<5 F5E=>?>7<G5E><5 ?D>F5EEO, 

>EGM5EF6?O5<O5 E 6>4>=; 

- ?D><76>4EF65==4O ?D>7D4<<4 >D74=<74F<<, >EGM5EF6?ONM5= 7>DOG55 

6>4>E=4565=<5, E>?>4=>5 6>4>E=4565=<5 < (<?<) 6>4>>F6545=<5 (44?55 2 

?D><76>4EF65==4O ?D>7D4<<4), 2 ?D>7D4<<4 F5>GM5= (>?5D4F<>==>=) 

45OF5?L=>EF< F4>>= >D74=<74F<< ?> >EGM5EF6?5=<N 7>DOG57> 6>4>E=4565=<O, 
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E>?>4=>7> 6>4>E=4565=<O < (<?<) 6>4>>F6545=<O, D57G?<DG5<OE 6<4>6 

45OF5?L=>EF< 6 ED5D5 6>4>E=4565=<O < (<?<) 6>4>>F6545=<O; 

- E>EF46 < E6>=EF64 EF>G=OE 6>4 2 E>6>>G?=>EFL ?>>474F5?5=, 

E4D4>F5D<7GNM<E D<7<G5E><5, E<<<G5E><5, 54>F5D<>?>7<G5E><5 < 4DG7<5 

E6>=EF64 EF>G=OE 6>4, 6 F>< G<E?5 >>=F5=FD4F<N 747DO7=ONM<E 65M5EF6, <=OE 

65M5EF6 < <<>D>>D74=<7<>6 6 EF>G=OE 6>44E; 

- EF>G=O5 6>4O F5=FD4?<7>64==>= E<EF5<O 6>4>>F6545=<O (44?55 2 EF>G=O5 

6>4O) 2 ?D<=<<45<O5 >F 45>=5=F>6 6 F5=FD4?<7>64==O5 E<EF5<O 6>4>>F6545=<O 

6>4O, 4 F4>65 4>6456O5, F4?O5, <=D<?LFD4F<>==O5, ?>?<6><>5G=O5, 4D5=46=O5 

6>4O, 5E?< F5=FD4?<7>64==4O E<EF5<4 6>4>>F6545=<O ?D54=47=4G5=4 4?O ?D<5<4 

F4><E 6>4; 

- F5E=<G5E>4O 6>44 26>44, ?>44645<4O E <E?>?L7>64=<5< F5=FD4?<7>64==>= 

<?< =5F5=FD4?<7>64==>= E<EF5<O 6>4>E=4565=<O, =5 ?D54=47=4G5==4O 4?O ?<FLO, 

?D<7>F>6?5=<O ?<M< < 4DG7<E E>7O=EF65==>-5OF>6OE =G64 =4E5?5=<O <?< 4?O 

?D><76>4EF64 ?<M56>= ?D>4G>F<<; 

- F5E=<G5E>>5 >5E?54>64=<5 F5=FD4?<7>64==OE E<EF5< 7>DOG57> 

6>4>E=4565=<O, E>?>4=>7> 6>4>E=4565=<O < (<?<) 6>4>>F6545=<O 2 >F5=>4 

F5E=<G5E><E E4D4>F5D<EF<> >5N5>F>6 F5=FD4?<7>64==OE E<EF5< 7>DOG57> 

6>4>E=4565=<O, E>?>4=>7> 6>4>E=4565=<O < (<?<) 6>4>>F6545=<O; 

- FD4=E?>DF<D>6>4 6>4O (EF>G=OE 6>4) 2 ?5D5<5M5=<5 6>4O (EF>G=OE 6>4), 

>EGM5EF6?O5<>5 E <E?>?L7>64=<5< 6>4>?D>6>4=OE (>4=4?<74F<>==OE) E5F5=; 

- F5=FD4?<7>64==4O E<EF5<4 7>DOG57> 6>4>E=4565=<O 2 >><??5>E 

F5E=>?>7<G5E>< E6O74==OE <564G E>5>= <=65=5D=OE E>>DG65=<=, 

?D54=47=4G5==OE 4?O 7>DOG57> 6>4>E=4565=<O ?GF5< >F5>D4 7>DOG5= 6>4O <7 

F5??>6>= E5F< (44?55 - >F>DOF4O E<EF5<4 F5??>E=4565=<O (7>DOG57> 

6>4>E=4565=<O) <?< <7 E5F5= 7>DOG57> 6>4>E=4565=<O ?<5> ?GF5< =47D564 6>4O 

557 >F5>D4 7>DOG5= 6>4O <7 F5??>6>= E5F< E <E?>?L7>64=<5< F5=FD4?L=>7> 

F5??>6>7> ?G=>F4 (44?55 2 74>DOF4O E<EF5<4 7>DOG57> 6>4>E=4565=<O); 

- F5=FD4?<7>64==4O E<EF5<4 6>4>>F6545=<O (>4=4?<74F<<) 2 >><??5>E 

F5E=>?>7<G5E>< E6O74==OE <564G E>5>= <=65=5D=OE E>>DG65=<=, 

?D54=47=4G5==OE 4?O 6>4>>F6545=<O; 
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- F5=FD4?<7>64==4O E<EF5<4 E>?>4=>7> 6>4>E=4565=<O 2 >><??5>E 

F5E=>?>7<G5E>< E6O74==OE <564G E>5>= <=65=5D=OE E>>DG65=<=, 

?D54=47=4G5==OE 4?O 6>4>?>47>F>6><, FD4=E?>DF<D>6>< < ?>44G< ?<FL56>= < 

(<?<) F5E=<G5E>>= 6>4O 45>=5=F4<. 

�5M<5 E6545=<O > E<EF5<5 6>4>E=4565=<O < 6>4>>F6545=<O 

�<5?LO=>6E><= D4=>= D4E?>?>65= 6 ?D<7>D>4=>= 7>=5, > 74?44G >F 

7>D>44 �D4E=>ODE>4. &5DD<F>D<O E5?LE>>7> ?>E5?5=<O -?<F>6E><= E5?LE>65F 

D4E?>?>65=4 6 N6=>= G4EF< �<5?LO=>6E>>7> D4=>=4. 

�>E5?>> -?<F4, >>F>DO= O6?O5FEO 44<<=<EFD4F<6=O< F5=FD>< -?<F>6E>>7> 

E5?LE>65F4, D4E?>?>65= 6 18 >< >F D4=>==>7> F5=FD4 ?7F. �<5?LO=>6>. 

�?>M44L F5DD<F>D<< 3 13 788,87 �4, 6 F>< G<E?5 6 74D=<F4E =4E5?5==OE 

?G=>F>6: ?. -?<F4 3 392,5 �4, E. �D5=E>>5 3 54,37 �4, 4. �G74G56> 3 173,44 �4, 4. 

�<=<=> 268,53 �4. '<E?5==>EFL =4E5?5=<O -?<F>6E>>7> E5?LE>65F4 E>EF46?O5F 

7432 G5?>65>. 

�?<<4F<G5E><5 GE?>6<O F5DD<F>D<< D57>> >>=F<=5=F4?L=O5, E 

7>E?>4EF6GNM<< 74?44=O< =4?D46?5=<5< 65FD4, E E>?>4=>= 7<<>= < 64D><< 

?5F><. �D5>5?4445F 6>EF>G=O= ?5D5=>E 6>74GL=OE <4EE, D476<F4 F<>?<G5E>4O 

45OF5?L=>EFL. �>=F<=5=F4?L=>EFL >?<<4F4 6OD4645FEO 5>?LL<<< 7>4<G=O<< < 

EGF>G=O<< >>?554=<O<< 4<??<FG4O F5<?5D4FGDO 6>74GE4, 65FD4<< 7<<>=, D57><< 

?D5>5?444=<5< ?5F=5->E5==<E >E44>>6. %D54=57>4>64O F5<?5D4FGD4 6>74GE4 1 %. 

�57<>D>7=O= ?5D<>4 4> 120 4=5=. %D54=OO F5<?5D4FGD4 6>74GE4 6 O=64D5 - 25 %. 

�5E>?NF=O= <<=<<G< 4>EF<745F - 42 %. %D54=OO F5<?5D4FGD4 6 <N?5 <5EOF5 18,6 

%. �>4>6>5 >>?<G5EF6> >E44>>6 E>EF46?O5F 4> 476 <<. �<<>= E=56=O= ?>>D>6 4> 

60 E<; ED54=57>4>64O E>>D>EFL 65FD4 4> 3,4 </E5>, 65E=>= < >E5=LN 6 >F45?L=O5 

4=< 4>EF<745F 20</E5>. �<<>= >5D47G5FEO E?44 E57>==>= <5D7?>FO 4> 2,7 <5FD>6, 

<4>E<<4?L=> 3 <5FD4; ?>?=>EFLN >FF4<64NM<= > =4G4?G <N?O. 

�4==O5 > E>EF465 =4E5?5=<O ?. -?<F4 ?D<6545=O 6 F45?<F5 1.1.  
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&45?<F4 1.1 3 �4==O5 ?> =4E5?5=<N -?<F>6E>>7> E5?LE>65F4 

�4<<5=>64=<5 

E4D4>F5D<EF<>< 

?. -?<F4 4. �<=<=> 4. 
�G74G56> 

E. 
�D5=E>>5 

%�&, ��& �E57> ?> 
E5?LE>65 

FG 
'<E?5==>EFL =4E5?5=<O 

(G5?.) =4 01.01.2021, 6 F>< 

G<E?5: 

 

2889 

 

1540 

 

1094 

 

741 

 

1168 

 

7432 

'<E?5==>EFL =4E5?5=<O 

(G5?.) =4 01.01.2021, 

74D57<EFD<D>64==O5 ?> 

<5EFG 6<F5?LEF64, 6 F>< 

G<E?5: 

2678 1459 1020 715 1109 6981 

$45>F4NM<E 1709 931 699 465 770 4574 

?5=E<>=5D>6 508 332 176 131 142 1289 

GG4M<EEO 413 177 141 97 131 959 

4>L>>?L=>7> 6>7D4EF4 259 100 78 48 125 610 

 

�<?<M=O= D>=4 -?<F>6E>>7> E5?LE>65F4 ?> E>EF>O=<N =4 01.01.2021 7. 

E>EF46<? 283,09 FOE. <2 >5M5= ??>M44<. 

%D54=OO >55E?5G5==>EFL >4=>7> 6<F5?O E5?LE>>= <5EF=>EF< 6 -?<F>6E>>< 

E5?LE>65F5 3 38,09 <2/G5?. 

'4EF=O= 6<?<M=O= D>=4 =4 01.01.2021 7. 6 -?<F>6E>>< E5?LE>65F5 E>EF46<? 

281,9 <2 >5M5= ??>M44< (99,57%). 
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&45?<F4 1.2 3 %6545=<O > 5?47>GEFD>=EF65 6<?<M=>7> D>=44 -?<F>6E>>7> 

E5?LE>65F4. 

 
 
 
 
�4<<5=>64= 

<5 
?>>474F5?5= 

 
 
 
 
 
�E57> 

6 F>< G<E?5 >5>DG4>64==OE: 

6>
4>

?D
>6

>4
><

 

6 
F>

<
 G

<E
?5

 
F5

=F
D4

?<
7>

64
==

O
<

 

6>
4>

>F
65

45
=<

5<
 

(>
4=

4?
<7

4F
<5

=)
 

6 
F>

<
 G

<E
?5

 
F5

=F
D4

?<
7>

64
==

O
<

 

>F
>?

?5
=<

5<
 

6 
F>

<
 G

<E
?5

 
F5

=F
D4

?<
7>

64
==

O
<

 

7>
DO

G<
<

 6
>4

>E
=4

56
5=

<5
<

 

6 
F>

<
 G

<E
?5

 
F5

=F
D4

?<
7>

64
==

O
<

 

64
==

4<
< 

(4
GL

5<
) 

74
7>

<
 

(E
5F

56
O

<
, E

6
<6

5=
=O

<
) 

=4
?>

?L
=O

<
< 

M?
5>

FD
<G

5E
><

<
< 

??
<F

4<
< 

�5M4O 
??>M44L 
6<?OE 
?><5M5=<=, 
FOE. <2 

283,09 151,71 65,07 151,71 65,07 198,37 8,46 104,8 21,3 104,8 15,9 116,3 

 

� =4EF>OM55 6D5<O 6 =4E5?5==OE ?G=>F4E -?<F>6E>>7> E5?LE>65F4 

EGM5EF6G5F FD< =5746<E<<O5 E<EF5<O 6>4>E=4565=<O 6 ?. -?<F4, 4. �<=<=>, 4. 

�G74G56>. � E. �D5=E>>5 E<EF5<4 F5=FD4?<7>64==>7> 6>4>E=4565=<O >FEGFEF6G5F. 

%<EF5<4 F5=FD4?<7>64==>7> 6>4>E=4565=<O ?. -?<F4, ?D54EF46?O5F E>5>= 

6>4>745>D=O5 E>>DG65=<O, E>EF>OM<5 <7 ?OF< E>646<=, =4E>E=>= EF4=F<< < 

D575D6G4D4 G<EF>= 6>4O ($'�). 

%<EF5<O F5=FD4?<7>64==>7> 6>4>E=4565=<O 4. �<=<=> < 4. �G74G56> 

?D54EF46?ONF E>5>= <47<EFD4?L=O5 < >64DF4?L=O5 E5F< 6>4>E=4565=<O < 

?>6OL4NMGN =4E>E=GN EF4=F<N, ?D<E>54<=5==O5 > E<EF5<5 F5=FD4?<7>64==>7> 

6>4>E=4565=<O 7. �D4E=>ODE>4, E>5EF65==<>>< >>F>D>= O6?O5FEO �5M5EF6> E 

>7D4=<G5==>= >F65FEF65==>EFLN «�D4E=>ODE><= 6<?<M=>->><<G=4?L=O= 

>><??5>E» (44?55 3 ��� «�D4E>><»). 

%<EF5<O F5=FD4?<7>64==>7> 6>4>>F6545=<O <<55FEO F>?L>> 6 ?. -?<F4 < 6 

<>D. �<4=O= ?. -?<F4. '>474==O5 E<EF5<O 6>4>>F6545=<O O6?ONFEO 

=5746<E<<O<< 4DG7 >F 4DG74 < F5E=>?>7<G5E>< =5 E6O74=O <564G E>5>=. 

� F5=FD4?<7>64==>= E<EF5<5 6>4>>F6545=<O ?. -?<F4, EF>G=O5 6>4O >F 

6<?OE 4><>6 < 44<<=<EFD4F<6=OE 744=<= E?<64NFEO 6 <47<EFD4?L=O= 

>4=4?<74F<>==O= 557=4?>D=O= >>??5>F>D, > >>F>D><G ?D<E>54<=5=O 5<>>EF< 4?O 
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E5>D4 EF>G=OE 6>4. �7 G>474==OE 5<>>EF5= 4?O E5>D4 EF>G=OE 6>4, >F>4G>4 EF>>>6 

?D><76>4<FEO E ?><>MLN E?5F<4?<7<D>64==OE 4EE5=<74F>DE><E <4L<=, E 

?>E?54GNM5= <E FD4=E?>DF<D>6>>= =4 >G<EF=O5 E>>DG65=<O 7. �D4E=>ODE>4 < ?. 

�<5?LO=>6>. 

� F5=FD4?<7>64==>= E<EF5<5 6>4>>F6545=<O <>D. �<4=O= ?. -?<F4, EF>G=O5 

6>4O >F 6<?OE 4><>6 < 44<<=<EFD4F<6=OE 744=<= E?<64NFEO 6 <47<EFD4?L=O= 

>4=4?<74F<>==O= 557=4?>D=O= >>??5>F>D, <7 >>F>D>7> EF>G=O5 6>4O, G5D57 

>4=4?<74F<>==GN =4E>E=GN EF4=F<N FD4=E?>DF<DGNFEO 6 =4?>D=O= 

>4=4?<74F<>==O= >>??5>F>D, > >>F>D><G ?D<E>54<=5=O 5<>>EF< 4?O E5>D4 

EF>G=OE 6>4. �7 G>474==OE 5<>>EF5= 4?O E5>D4 EF>G=OE 6>4, >F>4G>4 EF>>>6 

?D><76>4<FEO E ?><>MLN E?5F<4?<7<D>64==OE 4EE5=<74F>DE><E <4L<=, E 

?>E?54GNM5= <E FD4=E?>DF<D>6>>= =4 >G<EF=O5 E>>DG65=<O 7. �D4E=>ODE>4 < ?. 

�<5?LO=>6>. 

%E5<4 6>4>E=4565=<O < 6>4>>F6545=<O -?<F>6E>>7> E5?LE>65F4 D47D45>F4=4 

6 F5?OE >?D545?5=<O 4>?7>ED>G=>= ?5DE?5>F<6O D476<F<O E<EF5<O 

6>4>E=4565=<O < 6>4>>F6545=<O ?>E5?5=<O, >55E?5G5=<O =4456=>7> 

6>4>E=4565=<O < 6>4>>F6545=<O =4<5>?55 M>>=><<G=O< E?>E>5>< ?D< 

<<=<<4?L=>< 6>745=EF6<< =4 >>DG64NMGN ED54G, 4 F4>65 M>>=><<G5E>>7> 

EF<<G?<D>64=<O D476<F<O E<EF5< 6>4>E=4565=<O < 6>4>>F6545=<O < 6=54D5=<O 

M=5D7>E55D574NM<E F5E=>?>7<=. 

%E5<4 6>4>E=4565=<O < 6>4>>F6545=<O E>EF><F <7 46GE 7?46, < D47D45>F4=4 E 

GG5F>< FD55>64=<= �>4=>7> >>45>E4 $>EE<=E>>= $545D4F<< (%>5D4=<5 

74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<<, 2006, 723, EF. 2381; 750, EF. 5279; 

2007, 726, EF. 3075; 2008, 729, EF. 3418; 730, EF. 3616; 2009, 730, EF. 3735; 752, 

EF. 6441; 2011, 71, EF. 32), $545D4?L=>7> 74>>=4 >F 07.12.2011 7 416-$� «� 

6>4>E=4565=<< < 6>4>>F6545=<<» (EF. 37-41), ?>?>65=<= %�<� 2.04.02-84* 

«�>4>E=4565=<5. �4DG6=O5 E5F< < E>>DG65=<O» (�D<F<4?L=>5 <744=<5, �.: 

$�'� &��, 2004.�4F4 D544>F<<: 01.01.2004), F5DD<F>D<4?L=OE EFD><F5?L=OE 

=>D<4F<6>6, �>EF4=>6?5=<O ?D46<F5?LEF64 $$ >F 5 E5=FO5DO 2013 7. 7782 «� 

EE5<4E 6>4>E=4565=<O < 6>4>>F6545=<O». 

%E5<4 6>4>E=4565=<O < 6>4>>F6545=<O ?D54GE<4FD<645F >55E?5G5=<5 
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GE?G74<< 6>4>E=4565=<O < 6>4>>F6545=<O 75<5?L=OE GG4EF>>6, >F6545==OE ?>4 

?5DE?5>F<6=>5 EFD><F5?LEF6> 6<?LO, ?>6OL5=<5 >4G5EF64 ?D54>EF46?5=<O 

>><<G=4?L=OE GE?G7, EF45<?<74F<N < E=<65=<5 G45?L=OE 74FD4F 6 EFDG>FGD5 

F4D<D>6 < EF46>> >??4FO 4?O =4E5?5=<O, E>744=<5 GE?>6<=, =5>5E>4<<OE 4?O 

?D<6?5G5=<O >D74=<74F<= D47?<G=OE >D74=<74F<>==>-?D46>6OE D>D< > 

G?D46?5=<N >5N5>F4<< >><<G=4?L=>= <=DD4EFDG>FGDO, 4 F4>65 <=65EF<F<>==OE 

ED54EF6 6=55N465F=OE <EF>G=<>>6 4?O <>45D=<74F<< >5N5>F>6 6>4>?D>6>4=>- 

>4=4?<74F<>==>7> E>7O=EF64 (��%), G?GGL5=<O M>>?>7<G5E>>= >5EF4=>6><. 
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����� I 

%%��� ����%�������/ -��&��%���� %��,%���&� 

����,/���%���� $����� �$�%��/$%���� �$�/ 

$����� 1. &�%����--������'�%��� %�%&�/��� 

&��&$���������/% %�%&�� ����%�������/ ��%�����/ 

1.1 �?<E4=<5 E<EF5<O < EFDG>FGDO 6>4>E=4565=<O ?>E5?5=<O < 45?5=<5 

F5DD<F>D<< =4 M>E??G4F4F<>==O5 7>=O 

�4 F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4 <<5NFEO FD< E<EF5<O 

F5=FD4?<7>64==>7> 6>4>E=4565=<O: 6 ?. -?<F4, 4. �<=<=>, 4. �G74G56>. 

� ?. -?<F4 6>4>E=4565=<5 >55E?5G<645FEO ?>?GG5=<5< 6>4O <7 ?D<D>4=>7> 

?>475<=>7> <EF>G=<>4, G5D57 6>4>745>D=O5 E>>DG65=<O, E>EF>OM<5 <7 4 E>646<=, 

?D<=44?564M<5 =4 ?D465 E>5EF65==>EF< ��� «�7D>D5D<5D», ?5D5>4G<64=<5< 55 

G5D57 EF4=F<N 6F>D>7> ?>4N5<4 < ?>E?54GNM5= 55 FD4=E?>DF<D>6>< 4> 

?>FD55<F5?5=. �E=>6=O<< ?>FD55<F5?O<< O6?ONFEO 7D4644=5 (D<7<G5E><5 ?<F4), 

=> F4>65 6 =57=4G<F5?L=>< >>?<G5EF65 ?D<EGFEF6GNF ?>FD55<F5?< ND<4<G5E><5 

?<F4, D47?<G=OE D>D< E>5EF65==>EF<.  

1.2 �?<E4=<5 F5DD<F>D<= ?>E5?5=<O, =5 >E64G5==OE F5=FD4?<7>64==O<< 

E<EF5<4<< 6>4>E=4565=<O 

� F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4, =5 >5>DG4>64==>= E<EF5<>= 

F5=FD4?<7>64==>7> 6>4>E=4565=<O, >F=>E<FEO F5DD<F>D<O E. �D5=E>>5. �4 44==>= 

F5DD<F>D<<, 6 >4G5EF65 <EF>G=<>>6 6>4>E=4565=<O, =4E5?5=<5< <E?>?L7GNFEO 

<=4<6<4G4?L=O5 E>646<=O. 
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1.3 �?<E4=<5 F5E=>?>7<G5E><E 7>= 6>4>E=4565=<O, 7>= 

F5=FD4?<7>64==>7> < =5F5=FD4?<7>64==>7> 6>4>E=4565=<O (F5DD<F>D<=, =4 

>>F>DOE 6>4>E=4565=<5 >EGM5EF6?O5FEO E <E?>?L7>64=<5< 

F5=FD4?<7>64==OE < =5F5=FD4?<7>64==OE E<EF5< 7>DOG57> 6>4>E=4565=<O, 

E<EF5< E>?>4=>7> 6>4>E=4565=<O E>>F65FEF65==>) < ?5D5G5=L 

F5=FD4?<7>64==OE E<EF5< 6>4>E=4565=<O 

&5=FD4?<7>64==4O E<EF5<4 6>4>E=4565=<O -?<F>6E>>7> E5?LE>65F4 GE?>6=> 

<>6=> D4745?<FL =4 FD< F5E=>?>7<G5E><5 7>=O (F5=FD4?<7>64==O5 E<EF5<O 

6>4>E=4565=<O): 

�>=4 E>7O=EF65==>-?<FL56>= 6>4O ?. -?<F4, E>EF>OM4O <7 46GE G4EF5=. 

�5D64O G4EFL - 7>=4 F5E=<G5E>>= 6>4O. � 44==>= 7>=5 <>6=> >F=5EF< 

6>4>745>D=O5 E>>DG65=<O <7 4 E>646<=, =4E>E=GN EF4=F<N 6F>D>7> ?>4N5<4 

(=4E>4OM<5EO 6 E>5EF65==>EF< < >5E?G6<645<O5 ��� «�7D>D5D<5D»), 

<47<EFD4?L=O= =4?>D=O= FDG5>?D>6>4 4> D575D6G4D4 G<EF>= 6>4O. �F>D4O G4EFL 3 

$575D6G4DO G<EF>= 6>4O (=4E>4OM<5EO 6 E>5EF65==>EF< < >5E?G6<645<O5 ��� 

«�7D>D5D<5D»), ?>6OL4NM4O =4E>E=4O EF4=F<O (>5E?G6<645<4O ��� «�%�»), 

<47<EFD4?L=O5 E5F< <>D. �<4=O=, >64DF4?L=O5 E5F< <>D. �<4=O=, <47<EFD4?L=O5 

E5F< ?. -?<F4, >64DF4?L=O5 E5F< ?. -?<F4. �EF>G=<>>< 6>4>E=4565=<O O6?ONFEO 

?>475<=O5 6>4O 4 E>646<=, D4E?>?>65==OE =4 F5DD<F>D<< -?<F>6E>>7> 

E5?LE>65F4. �>44 ?D< ?><>M< =4E>E>6 ?>445FEO 6 D575D6G4D G<EF>= 6>4O < 44?55 

?> ED54EF64< =4E>E=>= EF4=F<< 6 6>4>?D>6>4=GN E5FL =4 E>7O=EF65==>-?<FL56O5 

< ?D><76>4EF65==O5 =G64O. %<EF5<4 F5=FD4?<7>64==>7> 6>4>E=4565=<O ?. -?<F4 

>E64FO645F E?54GNM<5 G?<FO: ?5D. �5D57>6O=, G?. �>D>64O, G?. �G45=>64, G?. 

�<4=4O, G?. �>D>4E>4O, ?5D. �D<5=>=, G?. �4?L=56>EF>G=4O, G?. �<6=4O, G?. 

�>5D4O, G?. �46>4E>4O, G?. �5?5=4O, G?. �?5=>64O, G?. �?NG564O, G?. �>?LF564O, G?. 

�><4D>64, G?. �>>?5D4F<6=4O, G?. �5E=4O, ?5D. �54>6O=, G?. �5E4=<74F>D>6, G?. 

�<>D>D4=>=, G?. �>?>456=4O, G?. �>64O, G?. �7>D>4=4O, G?. �75D=4O, G?. 

�>FO5DLE>4O, ?5D. �D5E>6O=, G?. �FD44=4O, G?. �5D6><4=E>4O, G?. �>?564O, G?. 

�D<>75D=4O, G?. $>>>EE>6E>>7>, G?. $>EE<=E>4O, ?5D. $O5<=>6O=, G?. %4O=E>4O, G?. 

%65F?4O, G?. %565D=4O, G?. %<5<DE><= FD4>F, G?. %?46O=E>4O, G?. %>65FE>4O, G?. 

%>?=5G=4O, G?. %>E=>64O, G?. %FD><F5?L=4O, G?. &<E4O, G?. &D4>F>64O, G?. 'NF=4O, 



 

 19 

 

 

G?. $DG>F>64O, 5G?L64D &65F=>=, G?. -?<F=4O, G?. .6=4O, G?. /7>4=4O. 

�>=4 E>7O=EF65==>-?<FL56>= 6>4O 4. �<=<=>. � 44==>= 7>=5 >F=>EOFEO 

?>6OL4NM4O =4E>E=4O EF4=F<O (7. �D4E=>ODE>, G?. �>D<?LE>4O, 16, =4E>4OM4OEO 

6 E>5EF65==>EF< �<5?LO=>6E>>7> D4=>=4, >5E?G6<645<4O ��� «�%�»), 

<47<EFD4?L=O= =4?>D=O= 6>4>?D>6>4, >64DF4?L=O5 E5F<. �EF>G=<>4 

6>4>E=4565=<O =5F, 6>44 ?>445FEO <7 <47<EFD4?L=>7> FDG5>?D>6>44 ��� 

«�D4E>><». %<EF5<4 F5=FD4?<7>64==>7> 6>4>E=4565=<O 4. �<=<=> >E64FO645F 

E?54GNM<5 G?<FO: G?. �<L=564O, G?. �=G>>6OE, G?. �>?<==4O, G?. �G>>64, G?. 

�4?44=4O, G?. �5?5=4O, G?. �<<=OO, G?. �D4E=>ODE>4O, G?. �G7>64O, G?. 

�54<F<=E>4O, G?. �<=<=E>4O, G?. �>64O, G?. �75D=4O, G?. �>FO5DLE>4O, ?5D. 

�E5==<=, G?. �E5==OO, G?. �>?564O, G?. �GL><=E>4O, G?. %44>64O, G?. %<5<DE>4O, 

G?. %>6E>7=4O, G?. %>?=5G=4O, G?. 2-O %F5?=4O, G?. %F5?=4O, G?. %FD><F5?L=4O, G?. 

&D4>F>64O, G?. &65F>G=4O, G?. .5<?5==4O, G?. .6=4O, G?. /5?>=564O, G?. 

�4D5G=4O, G?. �<D4. 

�>=4 E>7O=EF65==>-?<FL56>= 6>4O 4. �G74G56>. � 44==>= 7>=5 >F=>EOFEO 

<47<EFD4?L=O= =4?>D=O= 6>4>?D>6>4, >64DF4?L=O5 E5F<. �EF>G=<>4 

6>4>E=4565=<O =5F, 6>44 ?>445FEO <7 <47<EFD4?L=>7> FDG5>?D>6>44 ��� 

«�D4E>><». %<EF5<4 F5=FD4?<7>64==>7> 6>4>E=4565=<O 4. �G74G56> >E64FO645F 

E?54GNM<5 G?<FO: G?. �>EF>G=4O, G?. �>D>6=4O, G?. �4D5G=4O, G?. �5?5=4O, ?5D. 

�?G5=O=, G?. �5D<>=F>64, G?. �><>=>E>64, ?5D. �54<F<=E><=, G?. �>?>456=4O, 

G?. �75D=4O, G?. �>?564O, G?. %>6E>7=4O, G?. %G6>D>64, G?. &65F>G=4O, G?. 

&5=FD4?L=4O, G?. ,>>?L=4O, ?5D. ,>>?L=O=, G?. .6=4O, G?. .=>EF<. 

%<EF5<O F5=FD4?<7>64==>7> 7>DOG57> 6>4>E=4565=<O =4 F5DD<F>D<< 

-?<F>6E>>7> E5?LE>65F4 >FEGFEF6G5F. 

1.4 �?<E4=<5 D57G?LF4F>6 F5E=<G5E>>7> >5E?54>64=<O F5=FD4?<7>64==OE 

E<EF5< 6>4>E=4565=<O 

&5=FD4?<7>64==O5 E<EF5<O 6>4>E=4565=<O -?<F>6E>>7> E5?LE>65F4, E>EF>OF 

<7 E?54GNM<E >5N5>F>6: E>646<=O, ?>6OL4NM<5 =4E>E=O5 EF4=F<<, 

<47<EFD4?L=O5 E5F<, >64DF4?L=O5 E5F<. &5DD<F>D<O -?<F>6E>>7> E5?LE>65F4 

?D54EF46?O5F E>5>= FD< M>E??G4F4F<>==O5 7>=O, >?<E4==O5 6 ?. 1.3, 

>55E?5G<64NM<5 F5=FD4?<7>64==GN ?>44GG < D4E?D545?5=<5 6>4O 4?O 6<?>7> 
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E5>F>D4, >5M5EF65==OE 744=<= < ?D><?D54?D<OF<=. 

�>?<G5EF6> 6<F5?5=, ?>?GG4NM<E 6>4G 4?O E>7O=EF65==>-?<FL56OE =G64 <7 

F5=FD4?<7>64==>= E<EF5<O 6>4>E=4565=<O E>EF46?O5F 3564 G5?>65>, GF> 

E>EF46?O5F 47,95 % >F >5M5= G<E?5==>EF< =4E5?5=<O. 

�>FO F5E=<G5E>>7> >5E?54>64=<O E<EF5< 6>4>E=4565=<O -?<F>6E>>7> 

E5?LE>65F4, =4 <><5=F 4>FG4?<74F<< EE5<O 6>4>E=4565=<O < 6>4>>F6545=<O, 

>FEGFEF6GNF. 

1.4.1 �?<E4=<5 E>EF>O=<O EGM5EF6GNM<E <EF>G=<>>6 6>4>E=4565=<O < 

6>4>745>D=OE E>>DG65=<= 

� >4G5EF65 <EF>G=<>4 6>4>E=4565=<O 6 ?. -?<F4 <E?>?L7GNFEO ?>475<=O5 

<EF>G=<><, ?D<=44?564M<5 =4 ?D465 E>5EF65==>EF< ��� «�7D>D5D<5D». 

�>475<=O5 6>4O, >4> <EF>G=<> E>7O=EF65==>-?<FL56>7> 6>4>E=4565=<O, <<5NF 

DO4 ?D5<<GM5EF6, ?5D54 ?>65DE=>EF=O<< <EF>G=<>4<< 6>4>E=4565=<O. �=<, >4> 

?D46<?>, E4D4>F5D<7GNFEO 5>?55 6OE>><< >4G5EF6>< < =5 FD55GNF 4>D>7>EF>OM5= 

>G<EF><, ?GGL5 74M<M5=O >F 747DO7=5=<O < <E?4D5=<O. 

� >4G5EF65 6>4>745>D=OE E>>DG65=<= 6 ?. -?<F4 <E?>?L7GNFEO E>646<=O, <7 

>>F>DOE ?> ED54EF64< <E?>?L7>64=<O 7?G5<==OE =4E>E>6 F<?4 -&� 4>5O645FEO 

6>44. �>4N5< 6>4O <7 G5FOD5E 4DF57<4=E><E E>646<= >EGM5EF6?O5FEO 

E>646<==O<< ?>7DG6=O<< =4E>E4<< F<?4 -&�. �4?55 6>44 ?>EFG?45F 6 D575D6G4D 

G<EF>= 6>4O ($'�) ?>E5?>4 -?<F4, D4E?>?>65==O= 6 N7>-6>EF>G=>= G4EF< 

<<>D>D4=>=4 �<4=O=, 745 ED4=OFEO D57G?<DGNM<= ?D>F<6>?>64D=O= < 

464D<==O5 74?4EO 6>4O. 

�4 6>4>745>D5 ��� «�7D>D5D<5D» =4E>4<FEO 4 E>646<=O =4 >>F>DOE 

GEF4=>6?5=O E?54GNM<5 7?G5<==O5 =4E>EO: 

72 -&� 8-25-125 <>M=>EFLN 13 >�F/G4E; 

73 -&� 8-25-125 <>M=>EFLN 13 >�F/G4E; 

74 -&� 6-16-140 <>M=>EFLN 8 >�F/G4E; 

75 -&� 6-16-140 <>M=>EFLN 8 >�F/G4E. 
 
 

�>4G 4>5O64NF E 7?G5<= < ?>44NF 55 ?> ?>?<MF<?5=>6O< 6>4>?D>6>4=O< 

FDG54< 6 =4>>?<F5?L=GN 5<>>EFL, >5N5<, >>F>D>7> D465= 125 <3. % =4E>E=>= 
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EF4=F<< 6>44 ?>445FEO F5=FD>556=O< =4E>E><, <>M=>EFL >>F>D>7> 55 >�F/G4E, 6> 

6F>DGN =4E>E=GN EF4=F<N ?> ?>?<MF<?5=>6><G 6>4>?D>6>4G 6 =4>>?<F5?L=O5 

5<>>EF< 250 <3
 

% =4E>E=>= EF4=F<< 72 ?D< =4?>?=5==>= =4>>?<F5?L=>= 5<>>EF< 

6>?NG45FEO >4<= <7 46GE F5=FD>556=OE =4E>E>6. �>M=>EFL >464>7> =4E>E4 D46=4 

55 >�F/G4E. �4 EGF>< ?D><76>4<FEO 5-6 ?5D5>4G5> 6>4O 6 =4>>?<F5?L=GN 5<>>EFL, 

=4E>4OMGNEO 6 ?. -?<F4. 

%>646<==O5 ?>7DG6=O5 =4E>EO -&� ?D54=47=4G5=O 4?O ?>4N5<4 6>4O 

>5M5= <<=5D4?<74F<5= (EGE>= >EF4F>>) =5 5>?55 1500 <7/?, E 6>4>D>4=O< 

?>>474F5?5< D� = 6,5 - 9,5, F5<?5D4FGD>= 4> 25 °%, <4EE>6>= 4>?5= F65D4OE 

<5E4=<G5E><E ?D<<5E5= =5 5>?55 0,01%, E>45D64=<5< E?>D<4>6 =5 5>?55 350 <7/?, 

EG?LD4F>6 =5 5>?55 500 <7/? < E5D>6>4>D>44 =5 5>?55 1,5 <7/?. 

�>4>745>D=O5 E>646<=O ?. -?<F4 >5>DG4>64=O ?>7DG6=O<< E>646<==O<< 

=4E>E4<< -&� 6-25-140, E =<65?D<6545==O<< E4D4>F5D<EF<>4<<: 

 
 
 

�4D4<5FDO E>646<= ?D54EF46?5=O 6 F45?<F5 1.1.1 

&45?<F4 1.1.1 3 �4D4<5FDO E>646<= E<EF5<O 6>4>E=4565=<O 
 

1 �><5D E>646<=O 71 

2 �4D5E < ?>?>65=<5 6 D5?L5D5 
?. -?<F4, D46=<=4 >.=.7.G. 

24:11:0240001:822 
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3 �47=4G5=<5 E>646<=O < E6545=<O 
->E??G4F4F<>==4O, 4?O 

F5E=<G5E>>7> 6>4>E=4565=<O 

4 �>4 5GD5=<O 1986 7. 

5 �?G5<=4 E>646<=O, < 150 

6 �4E>E -&� 6-25-140 �� 

 
 

1 �><5D E>646<=O 72 

2 �4D5E < ?>?>65=<5 6 D5?L5D5 
?. -?<F4, D46=<=4 >.=.7.G. 

24:11:0240001:822/1 

3 �47=4G5=<5 E>646<=O < E6545=<O 
->E??G4F4F<>==4O, 4?O 

F5E=<G5E>>7> 6>4>E=4565=<O 

4 �>4 5GD5=<O 1986 7. 

5 �?G5<=4 E>646<=O, < 150 

6 �4E>E -&� 6-25-140 �� 

 
 

1 �><5D E>646<=O 73 

2 �4D5E < ?>?>65=<5 6 D5?L5D5 
?. -?<F4, D46=<=4 >.=.7.G. 

24:11:0240001:823 

3 �47=4G5=<5 E>646<=O < E6545=<O 
->E??G4F4F<>==4O, 4?O 

F5E=<G5E>>7> 6>4>E=4565=<O 

4 �>4 5GD5=<O 1986 7. 

5 �?G5<=4 E>646<=O, < 150 

6 �4E>E -&� 6-25-140 �� 

 
 

1 �><5D E>646<=O 74 

2 �4D5E < ?>?>65=<5 6 D5?L5D5 
?. -?<F4, D46=<=4 >.=.7.G. 

24:11:0240001:823 

3 �47=4G5=<5 E>646<=O < E6545=<O 
->E??G4F4F<>==4O, 4?O 

F5E=<G5E>>7> 6>4>E=4565=<O 

4 �>4 5GD5=<O 1986 7. 

5 �?G5<=4 E>646<=O, < 150 

6 �4E>E -&� 6-25-140 �� 

 

�>=O E4=<F4D=>= >ED4=O 6>4>745>D=OE E>>DG65=<= =5 GEF4=>6?5=O. 
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� 4. �<=<=> < 4. �G74G56>, <EF>G=<>< 6>4>E=4565=<O >FEGFEF6GNF. 

&5=FD4?<7>64==O5 E<EF5<O 6>4>E=4565=<O ?D54EF46?5=O 6 6<45 ?>6OL4NM5= 

=4E>E=>= EF4=F<< < <47<EFD4?L=OE E5F5= 6>4>E=4565=<O, ?>4>?NG5==OE > 

<47<EFD4?L=O< E5FO< 6>4>E=4565=<O 7. �D4E=>ODE>4 (��� «�D4E>><»), 4 F4>65 

>64DF4?L=OE E5F5=, > >>F>DO< ?>4>?NG5=O >5N5>FO >4?<F4?L=>7> EFD><F5?LEF64 

=5?>ED54EF65==OE ?>FD55<F5?5=. 

1.4.2 �?<E4=<5 EGM5EF6GNM<E E>>DG65=<= >G<EF>< < ?>47>F>6>< 6>4O, 

6>?NG4O >F5=>G E>>F65FEF6<O ?D<<5=O5<>= F5E=>?>7<G5E>>= EE5<O 

6>4>?>47>F>6>< FD55>64=<O< >55E?5G5=<O =>D<4F<6>6 >4G5EF64 6>4O 

%>>DG65=<O, ?D54=47=4G5==O5 4?O 6>4>?>47>F>6>< < >G<EF>< 6 ?. -?<F4 

>FEGFEF6GNF. 

�4G5EF6> ?<FL56>= 6>4O 4>?6=> E>>F65FEF6>64FL 7<7<5=<G5E><< =>D<4< 

?5D54 55 ?>EFG??5=<5< 6 D4E?D545?<F5?L=GN E5FL, 4 F4>65 6 F>G>4E 6>4>D475>D4 6 

=4DG6=>= < 6=GFD5==5= E5F<. 

�57>?4E=>EFL ?<FL56>= 6>4O 6 M?<45<<>?>7<G5E>>< >F=>L5=<< >?D545?O5FEO 

55 E>>F65FEF6<5< =>D<4F<64< ?> <<>D>5<>?>7<G5E><< < ?4D47<F>?>7<G5E><< 

?>>474F5?O<. 

&45?<F4 1.2 2 �>D<4F<6O ?> <<>D>5<>?>7<G5E><< < ?4D47<F>?>7<G5E><< 

?>>474F5?O< 

�>>474F5?< �4<=<F4 <7<5D5=<O �>D<4F<6 

&5D<>?5D4=F=O5>>?<D>D<=O5 
54>F5D<< '<E?> 54>F5D<= 6 100 <? �FEGFEF6GNF 

�5M<5 >>?<D>D<=O5 54>F5D<< '<E?> 54>F5D<= 6 100 <? �FEGFEF6GNF 

�5M55 <<>D>5=>5 G<E?>. '<E?>, >5D47GNM55 >>?>=<< 54>F5D<= 6 1 <? �5 5>?55 50 

�>?<D47< 
'<E?> 5?OL>>>5D47GNM<E 54<=<F (���) 6 
100 <? 

�FEGFEF6GNF 

%?>DO EG?LD<FD54GF<DGNM<E 
>?>EFD<4<= 

'<E?> E?>D 6 20 <? �FEGFEF6GNF 

&<EFO ?O<5?<= '<E?> F<EF 6 50 <? �FEGFEF6GNF 

 
�4G5EF6> ?<FL56>= 6>4O >?D545?O5FEO 55 E>>F65FEF6<5< =>D<4F<64< 

>D74=>?5?F<G5E><E E6>=EF6 6>4O. 
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&45?<F4 1.3 2 �>D<4F<6O >D74=>?5?F<G5E><E E6>=EF6 6>4O 
 

�>>474F5?< �4<=<F4 <7<5D5=<O �>D<4F<6 =5 5>?55 

�4?4E 54?? 2 

�D<6>GE 54?? 2 

&65F=>EFL 7D44GE 20 

�GF=>EFL 
" ?> D>D<47<=G 
" ?> >>4?<=G 

 
<7/? 
<7/? 

 
2,6 
1,5 

 

$44<4F<>==4O 557>?4E=>EFL ?<FL56>= 6>4O >?D545?O5FEO 55 E>>F65FEF6<5< 

=>D<4F<64< ?> ?>>474F5?O< 4?LD4 < 55F4 4>F<6=>EF<: 

&45?<F4 1.4 2 �>D<4F<6O ?> ?>>474F5?O< 4?LD4 < 55F4 4>F<6=>EF< 
 

�>>474F5?< 
�4<=<F4 

<7<5D5=<O 
�>D<4F<6O 

�>>474F5?< 

6D54=>EF< 
�5M4O 4?LD4-D44<>4>F<6=>EFL 5>/? 0,1 D44<4F. 

�5M4O 55F4-D44<>4>F<6=>EFL 5>/? 1,0 D44<4F. 

 
�576D54=>EFL ?<FL56>= 6>4O ?> E<<<G5E>><G E>EF46G >?D545?O5FEO 55 

E>>F65FEF6<5< =>D<4F<64< ?> >5>5M5==O< ?>>474F5?O<. 

&45?<F4 1.5 2 �>D<4F<6O ?> >5>5M5==O< ?>>474F5?O< 
 

�>>474F5?< �4<=<F4 <7<5D5=<O �>D<4F<6 =5 5>?55 

�>4>D>4=O= ?>>474F5?L �4<=<FO D� � ?D545?4E 6:9 

�5M4O <<=5D4?<74F<O (EGE>= >EF4F>>) �7/? 1000 

�5EF>>EFL >5M4O �>?L/? 7,0 

�><E?O5<>EFL ?5D<4=74=4=F=4O �7/? 5,0 

�5DF5?D>4G>FO (EG<<4D=>) �7/? 0,1 

�>65DE=>EF=>-4>F<6=O5 65M5EF64 (���) �7/? 0,5 

$5=>?L=O= <=45>E �7/? 0,25 

 
�576D54=>EFL ?<FL56>= 6>4O ?> F5E=<G5E>><G E>EF46G >?D545?O5FEO 55 

E>>F65FEF6<5< =>D<4F<64< ?> E>45D64=<N 6D54=OE E<<<G5E><E 65M5EF6. 

 
&45?<F4 1.6 2 �>D<4F<6O ?> E>45D64=<N 6D54=OE E<<<G5E><E 65M5EF6 

 

�>>474F5?< 
�4<=<F4 

<7<5D5=<O 
�>D<4F<6O �?4EE >?4E=. 

�?N<<=<= (�l3+) <7/? 0,5 2 

�5?57> <7/? 0,3 3 
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�>>474F5?< 
�4<=<F4 

<7<5D5=<O 
�>D<4F<6O �?4EE >?4E=. 

�44<<= (EG<<4D=.) <7/? 0,001 2 

�54L (EG<<4D=.) <7/? 1,0 3 

�<FD4FO <7/? 45,0 3 

%D>< <7/? 0,05 3 

&<=> <7/? 5,0 3 

�4D<= (�42+) <7/? 0,1 2 

�OLLO> (EG<<4D=.) <7/? 0,05 2 

%FD>=F<= <7/? 7,0 2 

�<>5?L <7/? 0,1 3 

 

�D>6545=<5 4=4?<7>6 >4G5EF64 ?<FL56>= 6>4O ?D><76>4<FEO ?> <5F>44< 

E>7?4E=> ��%& 51232-98 < ��%& 18190-72. 

 
&45?<F4 1.7 2 �5F>4O >>=FD>?O >4G5EF64 ?<FL56>= 6>4O 

 

�>>474F5?< �5>E=>64=<5 �5F>4 >>=FD>?O 

�4?4E ��%& 51232-98 �D74=>?5?F<G5E><= 

�D<6>GE ��%& 51232-98 �D74=>?5?F<G5E><= 

�GF=>EFL ��%& 51232-98 $>F><5FD<G5E><= 

&65F=>EFL ��%& 51232-98 $>F><5FD<G5E><= 

%?>D >EF4F>G=O= ��%& 18190-72 �>4><5FD<G5E><= 

�>44, ?>44645<4O 6 6>4>?D>6>4=GN E5FL, 4>?6=4 E>>F65FEF6>64FL %4=�<� 

2.1.3684-21 "%4=<F4D=>-M?<45<<>?>7<G5E><5 FD55>64=<O > E>45D64=<N 

F5DD<F>D<= 7>D>4E><E < E5?LE><E ?>E5?5=<=, > 6>4=O< >5N5>F4<, ?<FL56>= 6>45 < 

?<FL56><G 6>4>E=4565=<N =4E5?5=<O, 4F<>ED5D=><G 6>74GEG, ?>G64<, 6<?O< 

?><5M5=<O<, M>E??G4F4F<< ?D><76>4EF65==OE, >5M5EF65==OE ?><5M5=<=, 

>D74=<74F<< < ?D>6545=<N E4=<F4D=>-?D>F<6>M?<45<<G5E><E 

(?D>D<?4>F<G5E><E) <5D>?D<OF<=". �5>5E>4<<>EFL >55774D46<64=<O ?>475<=OE 

6>4 >?D545?O5FEO >D74=4<< E4=<F4D=>-M?<45<<>?>7<G5E>>= E?G65O. 

� E6O7< E GEG4L4NM<<EO M>>?>7<G5E><< E>EF>O=<5< >>DG64NM5= ED54O < 

6>7<>6=>EFLN F5E=>75==>7> 747DO7=5=<O 6>4>=>E=OE 7>D<7>=F>6, F4>65 4?O 

G65?<G5=<O =4456=>EF< E<EF5<O 6>4>E=4565=<O E G?GGL5=<5< >4G5EF64 

?>44645<>= 6>4O, ?>E?5 ?D>6545=<O <EE?54>64=<= ?D>5 4>5O645<>= 6>4O 

D5>><5=4G5FEO GEF4=>6>4 <>4G?L=OE GEF4=>6>> ?> >G<EF>5 6>4O < 

>55774D46<64=<N =4 5475 D<?LFD>6 < >55774D46<64NM57> >5>DG4>64=<O =4 5475 
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'$->55774D46<64=<O. 
 

&5E=>?>7<O G?LFD4D<>?5F>6>7> >55774D46<64=<O 6>4O, 6>74GE4 < 

?>65DE=>EF< >E=>64=4 =4 54>F5D<F<4=>< 45=EF6<< '$ <7?GG5=<O. 

'?LFD4D<>?5F>6>5 <7?GG5=<5 2 M?5>FD><47=<F=>5 <7?GG5=<5, 74=<<4NM55 

4<4?47>= <564G D5=F75=>6E><< < 6<4<<O< <7?GG5=<5< (4<4?47>= 4?<= 6>?= >F 

100 4> 400 =<). $47?<G4NF =5E>>?L>> GG4EF>>6 E?5>FD4 G?LFD4D<>?5F>6>7> 

<7?GG5=<O, <<5NM<E D47=>5 5<>?>7<G5E>>5 6>745=EF6<5: '$-A (3153400 =<), '$- 

B (2803315 =<), '$-C (2003280 =<), 64>GG<=O= '$ (1003200 =<). �7 6E57> '$ 

4<4?47>=4 GG4EF>> '$-% G4EF> =47O64NF 54>F5D<F<4=O< <7-74 57> 6OE>>>= 

>55774D46<64NM5= MDD5>F<6=>EF< ?> >F=>L5=<N > 54>F5D<O< < 6<DGE4<. 

�4>E<<G< 54>F5D<F<4=>= GG6EF6<F5?L=>EF< <<>D>>D74=<7<>6 ?D<E>4<FEO =4 

4?<=G 6>?=O 265 =<. '$ <7?GG5=<5 3 MF> D<7<G5E><= <5F>4 >55774D46<64=<O, 

>E=>64==O= =4 D>F>E<<<G5E><E D54>F<OE, >>F>DO5 ?D<6>4OF > =5>5D4F<<O< 

?>6D5645=<O< ��� < $�� <<>D>>D74=<7<>6. � D57G?LF4F5 <<>D>>D74=<7< F5DO5F 

E?>E>5=>EFL > D47<=>65=<N (<=4>F<6<DG5FEO). 

�E=>6=O5 ?D5<<GM5EF64 '$ F5E=>?>7<<: 

- 6OE>>4O MDD5>F<6=>EFL >55774D46<64=<O 6 >F=>L5=<< L<D>>>7> E?5>FD4 

<<>D>>D74=<7<>6, 6 F>< G<E?5 GEF>=G<6OE > E?>D<D>64=<N <<>D>>D74=<7<>6, 

F4><E >4> 6<DGEO < F<EFO ?D>EF5=L<E; 

- >FEGFEF6<5 6?<O=<O =4 D<7<>>-E<<<G5E><5 < >D74=>?5?F<G5E><5 E6>=EF64 

6>4O < 6>74GE4, =5 >5D47GNFEO ?>5>G=O5 ?D>4G>FO, =5F >?4E=>EF< ?5D54>7<D>6><; 

- =<7><5 >4?<F4?L=O5 74FD4FO, M=5D7>?>FD55?5=<5 < M>E??G4F4F<>==O5 

D4EE>4O; 

'$ GEF4=>6>< >><?4>F=O < ?D>EFO 6 M>E??G4F4F<<, =5 FD55GNF E?5F<4?L=OE 

<5D 557>?4E=>EF<. 

�E=>6=O<< ?D><OL?5==> ?D<<5=O5<O<< <EF>G=<>4<< '$ <7?GG5=<O 

O6?ONFEO DFGF=O5 ?4<?O 6OE>>>7> 446?5=<O < DFGF=O5 ?4<?O =<7>>7> 446?5=<O, 

6 F>< G<E?5 <E =>6>5 ?>>>?5=<5 3 4<4?L74<=O5. �4<?O 6OE>>>7> 446?5=<O 

>5?444NF 6OE>>>= 54<=<G=>= <>M=>EFLN (=5E>>?L>> >�F), => 5>?55 =<7><< ��� 

(9 - 12%) < <5=LL<< D5EGDE><, G5< ?4<?O =<7>>7> 446?5=<O (��� 40%), 

54<=<G=4O <>M=>EFL >>F>DOE E>EF46?O5F 45EOF>< < E>F=< 64FF. '$ E<EF5<O =4 
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4<4?L74<=OE ?4<?4E GGFL <5=55 >><?4>F=O, => 7>D474> 5>?55 M=5D7>MDD5>F<6=O, 
 

G5< E<EF5<O =4 ?4<?4E 6OE>>>7> 446?5=<O. �>MF><G FD55G5<>5 >>?<G5EF6> '$ 

>5>DG4>64=<O, 4 F4>65 F<? < >>?<G5EF6> <E?>?L7G5<OE 6 =5< '$ ?4<?, 746<E<F =5 

F>?L>> >F FD55G5<>= 4>7O '$ >5?GG5=<O, D4EE>44 < D<7<>>-E<<<G5E><E 

?>>474F5?5= >4G5EF64 >5D454FO645<>= ED54O, => < >F GE?>6<= D47<5M5=<O < 

M>E??G4F4F<<. 
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�=D>D<4F<O > ?>>474F5?OE >4G5EF64 ?>44645<>= 6 E5FL 6>4O: 
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1.4.3 �?<E4=<5 E>EF>O=<O < DG=>F<>=<D>64=<O EGM5EF6GNM<E 

=4E>E=OE F5=FD4?<7>64==OE EF4=F<=, 6 F>< G<E?5 >F5=>G 

M=5D7>MDD5>F<6=>EF< ?>44G< 6>4O, >>F>D4O >F5=<645FEO >4> E>>F=>L5=<O 

G45?L=>7> D4EE>44 M?5>FD<G5E>>= M=5D7<<, =5>5E>4<<>= 4?O ?>44G< 

GEF4=>6?5==>7> GD>6=O =4?>D4 (446?5=<O) 

� F5=FD4?<7>64==>= E<EF5<5 6>4>E=4565=<O ?. -?<F4, 6 <>D. �<4=O= 

<<55FEO >4=4 ?>6OL4NM4O =4E>E=4O EF4=F<O (��%). �E=>6=O< >5>DG4>64=<5< 

G>474==>= ��% O6?ONFEO FD< F5=FD>556=OE =4E>E4, 464 D45>G<E >4<= D575D6=O=. 

$45>F4 G>474==OE =4E>E>6 >EGM5EF6?O5FEO ?> ED54EF64< M<F4 G?D46?5=<O, 

>5>DG4>64==>7> G4EF>F=O< ?D5>5D47>64F5?5< 6 746<E<<>EF< >F 446?5=<O 6 

E<EF5<5 6>4>E=4565=<O. �D><76>4<F5?L=>EFL =4E>E=>= EF4=F<< ?. -?<F4 O6?O5FEO 

=54>EF4F>G=>=, 6 ?<>>6O5 D56<<O D45>FO =4E>E=4O EF4=F<O =5 6O44NF 

=5>5E>4<<O= D4EE>4 < 446?5=<5. �4>E<<4?L=4O ?D><76>4<F5?L=>EFL =4E>E=>= 

EF4=F<< 60 <3/G4E, FD55G5<4O ?D><76>4<F5?L=>EFL =4E>E=>= EF4=F<< 96,1 <3/G4E. 

%< F45?. 3.2. 

� F5=FD4?<7>64==>= E<EF5<5 6>4>E=4565=<O 4. �<=<=> < 4. �G74G56>, 

<<55FEO ?>6OL4NM4O =4E>E=4O EF4=F<O (��% ?> G?. �>D<?LE>4O). �E=>6=O< 

>5>DG4>64=<5< G>474==>= ��% O6?ONFEO FD< F5=FD>556=OE =4E>E4, 464 D45>G<E 

>4<= D575D6=O=. $45>F4 G>474==OE =4E>E>6 >EGM5EF6?O5FEO ?> ED54EF64< M<F4 

G?D46?5=<O, >5>DG4>64==>7> ??46=O< ?GE>>< 6 746<E<<>EF< >F 446?5=<O 6 

E<EF5<5 6>4>E=4565=<O. �D><76>4<F5?L=>EFL =4E>E=>= EF4=F<< ��% ?> G?. 

�>D<?LE>4O O6?O5FEO =54>EF4F>G=>=, 6 ?<>>6O5 D56<<O D45>FO =4E>E=O5 

47D574FO =5 6O44NF =5>5E>4<<O= D4EE>4 < 446?5=<5. �4>E<<4?L=4O 

?D><76>4<F5?L=>EFL =4E>E=>= EF4=F<< 62 <3/G4E, FD55G5<4O ?D><76>4<F5?L=>EFL 

=4E>E=>= EF4=F<< 89 <3/G4E. %< F45?. 3.2. 

&45?<F4 1.82 %4D4>F5D<EF<>< =4E>E=OE EF4=F<= 
 

�4<<5=>64=<5 
�>?<G5EF6> 

=4E>E>6 
(6E57>/D575D6) 

�4?>D 
E>744645<O= ��% 

(<.6>4.EF.) 

�4>E<<4?L=4O 
?D><76>4<F5?L=>E
FL ��% (<3/G4E) 

�>4>4G<64NM4O =4E>E=4O 
EF4=F<O <>D=. �<4=O=, ?. -?<F4 

3/1 59 60 

�>4>4G<64NM4O =4E>E=4O 
EF4=F<O G?. �>D<?LE>4O 

3/1 70 62 
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�4 >E=>64=<< 6OL5G>474==>7>, ?>FD55<F5?< =5 6 ?>?=>= <5D5 ?>?GG4NF 

GE?G7G. 

�E=>6=O< GE?>6<5< MDD5>F<6=>= < =4456=>= M>E??G4F4F<< =4E>E=>7> 

>5>DG4>64=<O O6?O5FEO E>7?4E>64==4O D45>F4 =4E>E4 6 E<EF5<5, 4 F4>65 =4?<G<5 

G4EF>F=OE ?D5>5D47>64F5?5=, E F5?LN 74M<FO =4E>E>6 >F ?5D5?44>6 =4?DO65=<O 6 

M?5>FD<G5E>>= E5F< < ?5D5<5=O D47. -F> GE?>6<5 6O?>?=O5FEO 6 F>< E?GG45, 5E?< 

D45>G4O F>G>4, >?D545?O5<4O ?5D5E5G5=<5< E4D4>F5D<EF<>< E<EF5<O < =4E>E4, 

=4E>4<FEO 6 ?D545?4E D45>G57> 4<4?47>=4 =4E>E4, F.5. 6 >5?4EF< <4>E<<4?L=>7> 

���. 

%D54< >E=>6=OE ?D<G<= =5MDD5>F<6=>= M>E??G4F4F<< =4E>E=>7> 

>5>DG4>64=<O <>6=> 6O45?<FL 465 >E=>6=O5: 

1. �5D5D47<5D<64=<5 =4E>E>6, F.5. GEF4=>6>4 =4E>E>6 E ?4D4<5FD4<< 

?>44G< < =4?>D4 5>?LL<<<, G5< FD55G5FEO 4?O >55E?5G5=<O D45>FO =4E>E=>= 

E<EF5<O. 

2. $57G?<D>64=<5 D56<<4 D45>FO =4E>E4 ?D< ?><>M< 7446<65>. 

�?O >?F<<<74F<< M=5D7>?>FD55?5=<O EGM5EF6G5F <=>65EF6> 

E?>E>5>6, >E=>6=O5 <7 >>F>DOE ?D<6545=O 6 F45?<F5 1.8. 

&45?<F4 1.82 �5F>4O E=<65=<O M=5D7>?>FD55?5=<O =4E>E=OE E<EF5< 
 

�5F>4O E=<65=<O M=5D7>?>FD55?5=<O =4E>E=OE E<EF5< 
%=<65=<5 

M=5D7>?>FD55?5=<O 

�4<5=4 D57G?<D>64=<O ?>44G< 7446<6>>= =4 D57G?<D>64=<5 
G4EF>F>= 6D4M5=<O 

10 - 60% 

%=<65=<5 G4EF>FO 6D4M5=<O =4E>E>6, ?D< =5<7<5==OE 
?4D4<5FD4E E5F< 

5 - 40% 

$57G?<D>64=<5 ?GF5< <7<5=5=<O >>?<G5EF64 ?4D4??5?L=> 
D45>F4NM<E =4E>E>6. 

10 - 30% 

�>4D57>4 D45>G57> >>?5E4 4> 20%, 6 ED54=5< 10% 

�E?>?L7>64=<5 4>?>?=<F5?L=OE D575D6G4D>6 4?O D45>FO 6> 6D5<O 
?<>>6OE =47DG7>> 

10 - 20% 

�4<5=4 M?5>FD>46<74F5?5= =4 5>?55 MDD5>F<6=O5 1 - 3% 

�4<5=4 =4E>E>6 =4 5>?55 MDD5>F<6=O5 1 - 2% 

 

-DD5>F<6=>EFL F>7> <?< <=>7> E?>E>54 D57G?<D>64=<O 6> <=>7>< 

>?D545?O5FEO E4D4>F5D<EF<>>= E<EF5<O < 7D4D<>>< 55 <7<5=5=<O 6> 6D5<5=<. � 

>464>< E?GG45 =5>5E>4<<> ?D<=<<4FL D5L5=<5 6 746<E<<>EF< >F >>=>D5F=OE 
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>E>55==>EF5= GE?>6<= M>E??G4F4F<<. 

�444G< E=<65=<O M=5D7>?>FD55?5=<O =4E>E=>7> >5>DG4>64=<O D5L4NFEO, 

?D5645 6E57>, ?GF5< >55E?5G5=<O E>7?4E>64==>= D45>FO =4E>E4 < E<EF5<O. 

�D>5?5<4 <75OF>G=>7> M=5D7>?>FD55?5=<O =4E>E=OE E<EF5<, =4E>4OM<EEO 6 

M>E??G4F4F<<, <>65F 5OFL GE?5L=> D5L5=4 74 EG5F <>45D=<74F<<, =4?D46?5==>= 

=4 >55E?5G5=<5 MF>7> FD55>64=<O. 

&45?<F4 1.9 2 �D<G<=O ?>6OL5==>7> M=5D7>?>FD55?5=<O < <5DO ?> 57> 

E=<65=<N 

�D<G<=O 6OE>>>7> 
M=5D7>?>FD55?5=<O 

$5>><5=4G5<O5 <5D>?D<OF<O ?> E=<65=<N 
M=5D7>?>FD55?5=<O 

�D<5=F<D>6>G=O= 
ED>> >>G?45<>EF< 

<5D>?D<OF<= 

1 2 3 

�4?<G<5 6 E<EF5<4E 
?5D<>4<G5E>>7> 45=EF6<O 
=4E>E>6, D45>F4NM<E 6 
?>EF>O==>< D56<<5 
=5746<E<<> >F ?>FD55=>EF5= 
E<EF5<O, F5E=>?>7<G5E>>7> 
?D>F5EE4 < F.?. 

- �?D545?5=<5 =5>5E>4<<>EF< 6 ?>EF>O==>= 
D45>F5 =4E>E>6. 
- �>?NG5=<5 < 6O>?NG5=<5 =4E>E4 6 DGG=>< 
<?< 46F><4F<G5E>>< D56<<5 F>?L>> 6 
?D><56GF>< 6D5<5=<. 

�F =5E>>?L><E 4=5= 
4> =5E>>?L><E 
<5EOF56 

%<EF5<O E <5=ONM5=EO 6> 
6D5<5=< 65?<G<=>= 
FD55G5<>7> D4EE>44. 

- �E?>?L7>64=<5 ?D<6>44 E D57G?<DG5<>= 
G4EF>F>= 6D4M5=<O 4?O E<EF5< E 
?D5<<GM5EF65==O<< ?>F5DO<< =4 FD5=<5 
- �D<<5=5=<5 =4E>E=OE EF4=F<= E 46G<O < 
5>?55 ?4D4??5?L=> GEF4=>6?5==O<< =4E>E4<< 
4?O E<EF5< E ?D5<<GM5EF65==> EF4F<G5E>>= 
E>EF46?ONM5= E4D4>F5D<EF<><. 

�5EOFO, 7>4O 

�5D5D47<5D<64=<5 =4E>E4. - �>4D57>4 D45>G57> >>?5E4. 
- �4<5=4 D45>G57> >>?5E4. 
- �D<<5=5=<5 M?5>FD>46<74F5?5= E <5=LL5= 

�545?< - 7>4O 

 G4EF>F>= 6D4M5=<O. 
- �4<5=4 =4E>E4 =4 =4E>E <5=LL57> 
F<?>D47<5D4. 

 

�7=>E >E=>6=OE M?5<5=F>6 
=4E>E4 

- $5<>=F < 74<5=4 M?5<5=F>6 =4E>E4 6 E?GG45 
E=<65=<O 57> D45>G<E ?4D4<5FD>6. 

�545?< 

�4E>D5=<5 < >>DD>7<O FDG5. - �G<EF>4 FDG5 
- �D<<5=5=<5 D<?LFD>6, E5?4D4F>D>6 < 
?>4>5=>= 4D<4FGDO 4?O ?D54>F6D4M5=<O 
74E>D5=<O. 
- �4<5=4 FDG5>?D>6>4>6 =4 FDG5O <7 
E>6D5<5==OE ?>?<<5D=OE <4F5D<4?>6, FDG5O 
E 74M<F=O< ?>>DOF<5< 

�545?<, <5EOFO 
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�D<G<=O 6OE>>>7> 
M=5D7>?>FD55?5=<O 

$5>><5=4G5<O5 <5D>?D<OF<O ?> E=<65=<N 
M=5D7>?>FD55?5=<O 

�D<5=F<D>6>G=O= 
ED>> >>G?45<>EF< 

<5D>?D<OF<= 

1 2 3 

�>?LL<5 74FD4FO =4 D5<>=F 
(74<5=4 F>DF>6OE 
G??>F=5=<=, ?>4L<?=<>>6) 
- $45>F4 =4E>E4 74 ?D545?4<< 
D45>G5= 7>=O, 
(?5D5D47<5D<64=<5 =4E>E4). 

- �>4D57>4 D45>G57> >>?5E4. 
- �D<<5=5=<5 M?5>FD>46<74F5?5= E <5=LL5= 
G4EF>F>= 6D4M5=<O <?< D54G>F>D>6 6 F5E 
E?GG4OE, >>744 ?4D4<5FDO =4E>E4 7=4G<F5?L=> 
?D56>EE>4OF ?>FD55=>EF< E<EF5<O. 
- �4<5=4 =4E>E4 =4 =4E>E <5=LL57> 
F<?>D47<5D4. 

�545?<-7>4O 

$45>F4 =5E>>?L><E =4E>E>6, 
GEF4=>6?5==OE ?4D4??5?L=> 6 
?>EF>O==>< D56<<5 

- 'EF4=>6>4 E<EF5<O G?D46?5=<O <?< =4?44>4 
EGM5EF6GNM5= 

�545?< 

 

� E6>N >G5D54L, ?N5O5 <5D>?D<OF<O ?> <>45D=<74F<< 4>?6=O >?<D4FLEO =4 

4>EF>65D=O5 44==O5 > D45>F5 =4E>E=>7> >5>DG4>64=<O < E4D4>F5D<EF<>4E 

E<EF5<O. � >464>< E?GG45 =5>5E>4<<> D4EE<4FD<64FL =5E>>?L>> 64D<4=F>6, 4 6 

>4G5EF65 <=EFDG<5=F4 ?> 6O5>DG >?F<<4?L=>7> 64D<4=F4 <E?>?L7>64FL <5F>4 

>F5=>< EF><<>EF< 6<7=5==>7> F<>?4 =4E>E=>7> >5>DG4>64=<O. 

1.4.4 �?<E4=<5 E>EF>O=<O < DG=>F<>=<D>64=<O 6>4>?D>6>4=OE E5F5= 

E<EF5< 6>4>E=4565=<O, 6>?NG4O >F5=>G 65?<G<=O <7=>E4 E5F5= < 

>?D545?5=<5 6>7<>6=>EF< >55E?5G5=<O >4G5EF64 6>4O 6 ?D>F5EE5 

FD4=E?>DF<D>6>< ?> MF<< E5FO< 

$4>F<G5E>4O ?D>FO65==>EFL 6>4>?D>6>4=OE E5F5= 6 ?. -?<F4 E>EF46?O5F 

37,99 ><, 6 F>< G<E?5 <7 =<E 10,17 >< 6 <>D. �<4=O=, <4F5D<4? FDG5>?D>6>4>6 3 

EF4?L, ??4EF<>. 

$4>F<G5E>4O ?D>FO65==>EFL 6>4>?D>6>4=OE E5F5= 6 4. �<=<=> E>EF46?O5F 

23,319 ><, <4F5D<4? ??4EF<>. 

$4>F<G5E>4O ?D>FO65==>EFL 6>4>?D>6>4=OE E5F5= 6 4. �G74G56> E>EF46?O5F 

10,811 ><, <4F5D<4? ??4EF<>. 

%GM5EF6GNM<5 E5F< 6>4>E=4565=<O ?. -?<F4 E4D4>F5D<7GNFEO 6OE>>>= 

EF5?5=LN <7=>L5==>EF<, >4> E4<>7> FDG5>?D>6>44, F4> < 74?>D=>= < 

D57G?<D>6>G=>= 4D<4FGDO, < >>?>4F56. � =4EF>OM55 6D5<O =4 E5FOE EGM5EF6GNF 

464D<==O5 GG4EF><, FD55GNM<5 74<5=O. 

%GM5EF6GNM<5 E5F< 6>4>E=4565=<O 4. �<=<=> < 4. �G74G56> 6 E6O7< 
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=5446=<<< ED>>4<< EFD><F5?LEF64 (2006-2007 7.7.) < <E?>?L7>64=<5< ?D< 

EFD><F5?LEF65 ?>?<MF<?5=>6OE FDG5 =<7>>7> 446?5=<O (ED>> E?G65O 4> 50 ?5F), 

=4E>4OFEO 6 G4>6?5F6>D<F5?L=>< E>EF>O=<<, >4=4>> 74?>D=4O < D57G?<D>6>G=4O 

4D<4FGD4 FD55GNF 74<5=O =4 5>?LL<=EF65 GG4EF>>6 E5F5=. �64D<==OE GG4EF>>6 

E5F5= 6>4>E=4565=<O, FD55GNM<E 74<5=O FDG5>?D>6>44, =4 44==>= F5DD<F>D<< =5 

6OO6?5=>. %>EF>O=<5 E<>FD>6OE >>?>4F56 G4>6?5F6>D<F5?L=>5. �>?LL4O G4EFL 

E5F5= 6>4>E=4565=<O 6 -?<F>6E>>< E5?LE>65F5 ?D>?>65=4 55E>4=4?L=O< 

E?>E>5><, 74 <E>?NG5=<5< =57=4G<F5?L=>= 4>?< >64DF4?L=OE E5F5= 6 ?. -?<F4, 

?D>?>65==OE 6 =5?D>E>4=OE >4=4?4E E>6<5EF=> E E5FO<< F5??>E=4565=<O. 

%FD><F5?LEF6> E5F5= 6>4>E=4565=<O, 6 -?<F>6E>>< E5?LE>65F5, 65?>EL ?> <5D5 

D476<F<O =4E5?5==OE ?G=>F>6, 557 =4?<G<O >5M57> ?D>5>F4 D476<F<O F5DD<F>D<<. 

%>7O=EF65==>-?<FL56>= 6>4>?D>6>4 -?<F>6E>>7> E5?LE>65F4, >5N54<=5= E 

?D>F<6>?>64D=O<. �E5 E5F< >5>DG4>64=O ?>64D=O<< 7<4D4=F4<<, 4?O 

>55E?5G5=<O =4DG6=>7> ?>64D>FGL5=<O =4E5?5==OE ?G=>F>6. �?O >55E?5G5=<O 

E>7O=EF65==>-?<FL56O< 6>4>E=4565=<5< 6<?OE 4><>6, =5 ?>4>?NG5==OE > 

F5=FD4?<7>64==><G 6>4>?D>6>4G =4 6>4>?D>6>4=>= E5F< GEF4=>6?5=O 

6>4>D475>D=O5 >>?>=><. 

�>>?> 45% 6>4>?D>6>4=OE E5F5= ?. -?<F4 FD55GNF >EGM5EF6?5=<O 

<5D>?D<OF<= ?> >4?<F4?L=><G D5<>=FG. 

1.4.5 �?<E4=<5 EGM5EF6GNM<E F5E=<G5E><E < F5E=>?>7<G5E><E ?D>5?5<, 

6>7=<>4NM<E ?D< 6>4>E=4565=<< ?>E5?5=<=, 7>D>4E><E >>DG7>6, 4=4?<7 

<E?>?=5=<O ?D54?<E4=<= >D74=>6, >EGM5EF6?ONM<E 7>EG44DEF65==O= 

=447>D, <G=<F<?4?L=O= >>=FD>?L, >5 GEFD4=5=<< =4DGL5=<=, 6?<ONM<E =4 

>4G5EF6> < 557>?4E=>EFL 6>4O 

�E=>6=O5 ?D>5?5<O 6>4>E=4565=<O ?. -?<F4: 

- 6OE>>4O <7=>L5==>EFL 6>4>?D>6>4=OE E5F5= < >5>DG4>64=<O; 

- =54>EF4F>G=4O ?D><76>4<F5?L=>EFL =4E>E=>= EF4=F<< ?. -?<F4; 

- >FEGFEF6<5 E>>DG65=<= 6>4>?>47>F>6>< < >G<EF>< 6>4O; 

- >FEGFEF6<5 6OE>>>MDD5>F<6=OE F5E=>?>7<= < <4F5D<4?>6 ?D< 

EFD><F5?LEF65, >4?<F4?L=>< D5<>=F5 < >5E?G6<64=<< 6>4>?D>6>4=OE E5F5=; 

- =5 D47D45>F4= ?D>5>F 7>= E4=<F4D=>= >ED4=O 4?O >5N5>F>6 E>7O=EF65==>- 
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?<FL56>7> 6>4>E=4565=<O. 

�E=>6=O5 ?D>5?5<O 6>4>E=4565=<O 4. �<=<=> < 4. �G74G56>: 

- 6OE>>4O <7=>L5==>EFL 74?>D=>= < D57G?<D>6>G=>= 4D<4FGDO; 

- =54>EF4F>G=4O ?D><76>4<F5?L=>EFL =4E>E=>= EF4=F<< ?> G?. �>D<?LE>4O; 

- 6OE>>4O EF5?5=L <7=>L5==>EF< >5>DG4>64=<O < 46F><4F<>< 6 ?>6OL4NM5= 

=4E>E=>= EF4=F<<; 

- >FEGFEF6<5 D575D6=OE 6>4>?D>6>4>6. 

�=D>D<4F<O >5 <E?>?=5=<< ?D54?<E4=<= >D74=>6, >EGM5EF6?ONM<E 

7>EG44DEF65==O= =447>D, <G=<F<?4?L=O= >>=FD>?L >5 GEFD4=5=<< =4DGL5=<=, 

6?<ONM<E =4 >4G5EF6> < 557>?4E=>EFL 6>4O, >FEGFEF6G5F. 

1.4.6 �?<E4=<5 F5=FD4?<7>64==>= E<EF5<O 7>DOG57> 6>4>E=4565=<O E 

<E?>?L7>64=<5< 74>DOFOE E<EF5< 7>DOG57> 6>4>E=4565=<O, >FD464NM<E 

F5E=>?>7<G5E><5 >E>55==>EF< G>474==>= E<EF5<O 

�D< 74>DOF>= EE5<5 7>DOG57> 6>4>E=4565=<O ?5D6<G=O= F5??>=>E<F5?L (?4D, 

6>44) <7 F5??>6>= E5F< <E?>?L7G5FEO 4?O ?>4>7D564 6>4>?D>6>4=>= 6>4O 6 

6>4>=47D564F5?OE, GEF4=46?<645<OE 6 F5=FD4?L=OE F5??>6OE ?G=>F4E (&&�) < 

>5E?G6<64NM<E, >4> ?D46<?>, 7DG??G 744=<=. � >F45?L=OE E?GG4OE 

6>4>=47D564F5?< <>7GF D47<5M4FLEO 6 E?5F<4?L=OE ?><5M5=<OE =5?>ED54EF65==> 

6 ?>464?4E 6<?OE 744=<=. �D<<5D EE5<O 7>DOG57> 6>4>E=4565=<O E &&� 

?D<6545= =4 D<EG=>5 1.1. 

 

 

$<EG=>> 1.1 2 %E5<4 &&� ?D< 74>DOF>= EE5<5 7>DOG57> 6>4>E=4565=<O: 

1,2 3 ?>44NM<= < >5D4F=O= FDG5>?D>6>4O F5??>=>E<F5?O (?4D <?< 7>DOG4O 

6>44); 33 F5??>>5<5==<>; 4 3 FDG5>?D>6>4 ?>44G< E>?>4=>= 6>4O <7 =4DG6=>= 
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6>4>?D>6>4=>= E5F< <?< >F 7<4D>?=56<4F<G5E>>7> 54>4 ?D< =4?<G<< =4E>E=>= 

EF4=F<< ?>4>4G><; 5, 6 3 ?>44NM<= < F<D>G?OF<>==O5 FDG5>?D>6>4O E<EF5<O 

7>DOG57> 6>4>E=4565=<O. 

�4>DOFO5 E<EF5<O F5??>E=4565=<O 3 E<EF5<O, 6 >>F>DOE F<D>G?<DGNM4O 6 

FDG5>?D>6>45 6>44 <E?>?L7G5FEO F>?L>> >4> F5??>=>E<F5?L, < =5 745<D45FEO <7 

F5??>E5F< 4?O >55E?5G5=<O 7>DOG57> 6>4>E=4565=<O. %<EF5<4 6 MF>< E?GG45 

?>?=>EFLN 74>DOF4 >F >>DG64NM5= ED54O. �57GE?>6=>, < 6 F4>>= E<EF5<5 

6>7<>6=4 =57=4G<F5?L=4O GF5G>4 F5??>=>E<F5?O. �>F5D< 6>4O 6>E?>?=ONFEO E 

?><>MLN D57G?OF>D4 ?>4?<F>< 46F><4F<G5E><. 

�>44G4 F5??4 6 74>DOF>= E<EF5<5 F5??>E=4565=<O D57G?<DG5FEO 

F5=FD4?<7>64==>, ?D< MF>< >>?<G5EF6> F5??>=>E<F5?O (6>4O) >EF45FEO 6 E<EF5<5 

=5<7<5==O<, 4 D4EE>4 F5??4 746<E<F >F F5<?5D4FGDO F<D>G?<DGNM57> 

F5??>=>E<F5?O. � 74>DOFOE E<EF5<4E F5??>E=4565=<O, >4> ?D46<?>, <E?>?L7GNFEO 

6>7<>6=>EF< F5??>6OE ?G=>F>6. � =<< ?>EFG?45F F5??>=>E<F5?L >F ?>EF46M<>4 

F5??>M=5D7<< (&-&, =4?D<<5D), 4 F5=FD4?L=O5 F5??>6O5 ?G=>FO D4=>=>6 

D57G?<DGNF F5<?5D4FGDG F5??>=>E<F5?O 4> =5>5E>4<<>= 65?<G<=O 4?O =G64 

>F>??5=<O < 7>DOG57> 6>4>E=4565=<O, < D4E?D545?ONF ?>FD55<F5?N. 

�D5<<GM5EF64 74>DOF>= E<EF5<O F5??>E=4565=<O 2 6OE>>>5 >4G5EF6> 

7>DOG57> 6>4>E=4565=<O, M=5D7>E55D574NM<= MDD5>F. 

�4>DOFO5 E<EF5<O 7>DOG57> 6>4>E=4565=<O 6 -?<F>6E>>< E5?LE>65F5 

>FEGFEF6GNF. 

1.4.7 �?<E4=<5 EGM5EF6GNM<E F5E=<G5E><E < F5E=>?>7<G5E><E D5L5=<= 

?> ?D54>F6D4M5=<N 74<5D74=<O 6>4O ?D<<5=<F5?L=> > F5DD<F>D<< 

D4E?D>EFD4=5=<O 65G=><5D7?OE 7DG=F>6 

�4 F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4 65G=><5D7?O5 7DG=FO >FEGFEF6GNF. 

�?G5<=4 ?D><5D74=<O 7DG=F4 =4 F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4 2,7 <5FD4. 

�E=>6=4O G4EFL E5F5= 6>4>E=4565=<O -?<F>6E>>7> E5?LE>65F4, 6> 6E5E 

=4E5?5==OE ?G=>F4E 74?5745F =4 7?G5<=5 3 <5FD4 < 5>?55, GF> ?D56OL45F 7?G5<=G 

?D><5D74=<O 7DG=F4 (2,7 <) 6 E4<O5 E>?>4=O5 <5EOFO E57>=4. 

1.4.8 �5D5G5=L ?<F, 6?445NM<E =4 ?D465 E>5EF65==>EF< <?< 4DG7>< 

74>>==>< >E=>64=<< >5N5>F4<< F5=FD4?<7>64==>= E<EF5<O 6>4>E=4565=<O, E 
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G>474=<5< ?D<=44?56=>EF< MF<< ?<F4< F4><E >5N5>F>6 (7D4=<F 7>=, 6 

>>F>DOE D4E?>?>65=O F4><5 >5N5>FO) 

�D46> E>5EF65==>EF< =4 >5N5>FO 6>4>?D>6>4=>7> E>7O=EF64 E<EF5<O 

F5=FD4?<7>64==>7> 6>4>E=4565=<O 4. �<=<=> < 4. �G74G56> ?D<=44?56<F 

<G=<F<?4?L=><G >5D47>64=<N �<5?LO=>6E><= D4=>=. �D46> E>5EF65==>EF< =4 

6>4>745>D=O5 E>>DG65=<O ?. -?<F4 ?D<=44?56<F ��� «�7D>D5D<5D». �D46> 

E>5EF65==>EF< =4 <47<EFD4?L=O5 < >64DF4?L=O5 E5F< 6>4>E=4565=<O ?. -?<F4 

?D<=44?56<F <G=<F<?4?L=><G >5D47>64=<N -?<F>6E><= E5?LE>65F. �D><5 F>7>, 

=4 F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4 EGM5EF6GNF 55EE>7O==O5 E5F< 

6>4>E=4565=<O, >>F>DO5 ?>MF4?=>, E GG5F>< D<=4=E>6OE 6>7<>6=>EF5=, 

>D>D<?ONFEO 44<<=<EFD4F<5= -?<F>6E>>7> E5?LE>65F4 6 E>5EF65==>EFL. 

�5E?G6<64=<5 F5=FD4?<7>64==OE E<EF5< 6>4>E=4565=<O ?. -?<F4, 4. �<=<=> < 4. 

�G74G56> >EGM5EF6?O5F �5M5EF6> E >7D4=<G5==>= >F65FEF65==>EFLN 

«�D4E=>ODE>4O E5F564O >><?4=<O». �5E?G6<64=<5 6>4>745>D=OE E>>DG65=<= ?. 

-?<F4 >EGM5EF6?O5F ��� «�7D>D5D<5D». 

$����� 2. ���$������/ $����&�/ &��&$���������/% 

%�%&�� ����%�������/ 

2.1 �E=>6=O5 =4?D46?5=<O, ?D<=F<?O, 7444G< < F5?56O5 ?>>474F5?< 

D476<F<O, < ?>>474F5?< D476<F<O F5=FD4?<7>64==OE E<EF5< 6>4>E=4565=<O 

� =4EF>OM55 6D5<O 44<<=<EFD4F<5= �<5?LO=>6E>>7> D4=>=4 �D4E=>ODE>>7> 

>D4O 4?O -?<F>6E>>7> E5?LE>65F4 D47D454FO645FEO ?D>5>F �5=5D4?L=>7> ??4=4 

(��), >?D545?ONM<= EFD4F57<N 57> 7D44>EFD><F5?L=>7> D476<F<O < GE?>6<O 

D>D<<D>64=<O ED54O 6<7=545OF5?L=>EF<, 4 F4>65 ?D>5>F ?D>7D4<<O 

>><??5>E=>7> D476<F<O (��$) E<EF5< >><<G=4?L=>= <=DD4EFDG>FGDO =4 2021- 

2023 7>4O, ?D54=47=4G5==>= 4?O >4G5EF65==>7> < =4456=>7> >55E?5G5=<O 

>><<G=4?L=O<< GE?G74<< ?>FD55<F5?5= -?<F>6E>>7> E5?LE>65F4. 

$4745? «�>4>E=4565=<5» EE5<O 6>4>E=4565=<O < 6>4>>F6545=<O 

-?<F>6E>>7> E5?LE>65F4 =4 ?5D<>4 4> 2030 7>44 D47D45>F4= 6 F5?OE D54?<74F<< 

7>EG44DEF65==>= ?>?<F<>< 6 ED5D5 6>4>E=4565=<O, =4?D46?5==>= =4 >55E?5G5=<5 

>ED4=O 74>D>6LO =4E5?5=<O < G?GGL5=<O >4G5EF64 6<7=< =4E5?5=<O ?GF5< 

>55E?5G5=<O 55E?5D55>==>= ?>44G< 74D4=F<D>64==> 557>?4E=>= ?<FL56>= 6>4O 
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?>FD55<F5?O< E GG5F>< D476<F<O 7>D>4E><E F5DD<F>D<=. 

�D<=F<?4<< D476<F<O F5=FD4?<7>64==>= E<EF5<O 6>4>E=4565=<O 

-?<F>6E>>7> E5?LE>65F4 O6?ONFEO: 

- ?>EF>O==>5 G?GGL5=<5 >4G5EF64 ?D54>EF46?5=<O GE?G7 6>4>E=4565=<O 

?>FD55<F5?O< (45>=5=F4<); 

- G4>6?5F6>D5=<5 ?>FD55=>EF< 6 >55E?5G5=<< GE?G7>= 6>4>E=4565=<O =>6OE 

>5N5>F>6 >4?<F4?L=>7> EFD><F5?LEF64; 

- ?>EF>O==>5 E>65DL5=EF6>64=<5 EE5<O 6>4>E=4565=<O =4 >E=>65 

?>E?54>64F5?L=>7> ??4=<D>64=<O D476<F<O E<EF5<O 6>4>E=4565=<O, D54?<74F<< 

??4=>6OE <5D>?D<OF<=, ?D>65D>< D57G?LF4F>6 D54?<74F<< < E6>56D5<5==>= 

>>DD5>F<D>6>< F5E=<G5E><E D5L5=<= < <5D>?D<OF<=. 

�E=>6=O<< 7444G4<<, D5L45<O<< 6 D4745?5 «�>4>E=4565=<5» EE5<O 

6>4>E=4565=<O < 6>4>>F6545=<O, O6?ONFEO: 

- EFD><F5?LEF6> =>6OE < <>45D=<74F<O EGM5EF6GNM<E 6>4>?D>6>4=OE E5F5= 

E F5?LN >55E?5G5=<O >4G5EF64 6>4O, ?>EF46?O5<>= ?>FD55<F5?O<, ?>6OL5=<O 

=4456=>EF< 6>4>E=4565=<O, E=<65=<O 464D<==>EF<, E>>D4M5=<O ?>F5DL 6>4O; 

- 74<5=4 74?>D=>= 4D<4FGDO =4 6>4>?D>6>4=OE E5FOE, 6 F>< G<E?5 ?>64D=OE 

7<4D4=F>6, E F5?LN >55E?5G5=<O <E?D46=>7> F5E=<G5E>>7> E>EF>O=<O E5F<, 

55E?5D55>==>= ?>44G< 6>4O ?>FD55<F5?O<, 6 F>< G<E?5 =4 =G64O 

?>64D>FGL5=<O; 

- EFD><F5?LEF6> E5F5= < E>>DG65=<= 4?O 6>4>E=4565=<O >E64<645<OE < 

?D5>5D47G5<OE F5DD<F>D<=, 4 F4>65 >F45?L=OE E5?LE><E F5DD<F>D<=, =5 <<5NM<E 

F5=FD4?<7>64==>7> 6>4>E=4565=<O E F5?LN >55E?5G5=<O 4>EFG?=>EF< GE?G7 

6>4>E=4565=<O 4?O 6E5E 6<F5?5= -?<F>6E>>7> E5?LE>65F4; 

- ?D<6?5G5=<5 <=65EF<F<= 6 <>45D=<74F<N < F5E=<G5E>>5 ?5D56>>DG65=<5 

>5N5>F>6 6>4>E=4565=<O, ?>6OL5=<5 EF5?5=< 5?47>GEFD>=EF64 744=<=; 

- ?>6OL5=<5 MDD5>F<6=>EF< G?D46?5=<O >5N5>F4<< >><<G=4?L=>= 

<=DD4EFDG>FGDO, E=<65=<5 E555EF><<>EF< 6<?<M=>->><<G=4?L=OE GE?G7 74 EG5F 

>?F<<<74F<< D4EE>4>6, 6 F>< G<E?5 D4F<>=4?L=>7> <E?>?L7>64=<O 6>4=OE 

D5EGDE>6; 

- >5=>6?5=<5 >E=>6=>7> >5>DG4>64=<O >5N5>F>6 6>4>?D>6>4=>7> E>7O=EF64, 
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?>445D64=<5 =4 GD>6=5 =>D<4F<6=>7> <7=>E4 < E=<65=<O EF5?5=< <7=>E4 

>E=>6=OE ?D><76>4EF65==OE D>=4>6 >><??5>E4; 

- G?GGL5=<5 >55E?5G5=<O =4E5?5=<O ?<FL56>= 6>4>= =>D<4F<6=>7> >4G5EF64 < 

6 4>EF4F>G=>< >>?<G5EF65, G?GGL5=<5 =4 MF>= >E=>65 74>D>6LO G5?>65>4. 

2.2 $47?<G=O5 EF5=4D<< D476<F<O F5=FD4?<7>64==OE E<EF5< 

6>4>E=4565=<O 6 746<E<<>EF< >F D47?<G=OE EF5=4D<56 D476<F<O ?>E5?5=<= 

� E>>F65FEF6<< E ?D>5>F>< �� ?D<>D<F5F=O<< =4?D46?5=<O<< D476<F<O 

-?<F>6E>>7> E5?LE>65F4 O6?ONFEO: 

- D476<F<5 ?D54?D<=<<4F5?LE>>= 45OF5?L=>EF<; 

- D476<F<5 E>F<4?L=>-5OF>6>= <=DD4EFDG>FGDO; 

- G?GGL5=<5 GE?>6<= 6<7=< =4E5?5=<O; 

- D476<F<5 FD4=E?>DF=>= <=DD4EFDG>FGDO; 

- D476<F<5 D5>D54F<>==>-FGD<EF<G5E>>= >FD4E?<. 

%F45<?<74F<O 6E5E ?D><76>4EF6 ?D<6545F > G65?<G5=<N <5EF=>7> 5N465F4, 

E?54>64F5?L=>, <>6=> 5G45F 6O45?<FL 5>?LL5 ED54EF6 =4 E>F<4?L=>5 D476<F<5 

E5?LE>65F4 (>5D47>64=<5, <54<F<=G, D476<F<5 <=DD4EFDG>FGDO). 

&4><< >5D47><, 6 ?5DE?5>F<65 ?D54?>?4745FEO D476<F<5 E<EF5<O 

6>4>E=4565=<O E F5?LN >55E?5G5=<O =4E5?5=<O -?<F>6E>>7> E5?LE>65F4 

=4456=O< 6>4>E=4565=<5<. 

$����� 3. �����% ����%�������/ � ��&$������/ 

��$/'��, ��&,����, &�%��'�%��� ���/ 

3.1 �5M<= 54?4=E ?>44G< < D54?<74F<< 6>4O, 6>?NG4O 4=4?<7 < >F5=>G 

EFDG>FGD=OE E>EF46?ONM<E ?>F5DL 7>DOG5=, ?<FL56>=, F5E=<G5E>>= 6>4O 

?D< 55 ?D><76>4EF65 < FD4=E?>DF<D>6>5 

�>4>E>7O=EF65==O= 54?4=E 6 ?. -?<F4 ?D54EF46?5= 6 F45?<F5 3.1. 
 
 

&45?<F4 3.1 2 �>4>E>7O=EF65==O= 54?4=E 6>4>?>?L7>64F5?O 
 

�4<<5=>64=<5 
�>4=OF>/?D<=OF> 

6>4O, 
<3/EGF, FOE. <3/7>4 

�>4>?>FD55?5=<5, <3/EGF, FOE. <3/7>4 �576>76D4F=>5 
?>FD55?5=<5/ 

?>F5D<, <3/EGF, 
FOE. <3/7>4 

=4 
E>5EF65==O5 

=G64O 
D54?<7>64=> 

1 2 3 4 5 
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?. -?<F4 1252,5/303,121 105/38,455 942,1/189,71 205,4/74,956 (40%) 

4. �<=<=> 467,4/136,154 - 385,8/106,37 81,6/29,784 (28%) 

4. �G74G56> 439/106,764 - 344,0/71,975 95,3/34,789 (49%) 

 
 

3.2 &5DD<F>D<4?L=O= 54?4=E ?>44G< 7>DOG5=, ?<FL56>=, F5E=<G5E>>= 

6>4O ?> F5E=>?>7<G5E><< 7>=4< 6>4>E=4565=<O (7>4>6>= < 6 EGF>< 

<4>E<<4?L=>7> 6>4>?>FD55?5=<O) 

&45?<F4 3.2 2 &5DD<F>D<4?L=O= 54?4=E ?>44G< 7>DOG5=, ?<FL56>=, F5E=<G5E>>= 6>4O 
?> F5E=>?>7<G5E><< 7>=4< 6>4>E=4565=<O 

 

$4=>= 
$4>F<G5E>>5 

6>4>?>FD55?5=
<5, <³/7>4 

$4>F<G5E>>5 
6>4>?>FD55?5=<5, 

<³/EGF 

$4EE>4 
6>4O 6 
EGF>< 

=4<5>?LL57
> 

6>4>?>FD55
?5=<O, 
<³/EGF 

$4EG5F=O= 
G4E>6>= 
D4EE>4, 
<³/G4E 

?. -?<F4 

�<?O5 4><4 103373 283,2 

1130,52 96,1 
�>?<6 75790 616,2 

.D. ?<F4 10547,8 42,7 
�F>7>: 189710,8 942,1 

4. �<=<=> 

�<?O5 4><4 52340 143,4 

462,96 45,14 
�>?<6 5809 47,2 

.D. ?<F4 48221,3 195,2 
�F>7>: 106370,3 385,8 

4. �G74G56> 
�<?O5 4><4 25356 69,5 

412,8 43,86 
�>?<6 21026 170,9 

.D. ?<F4 25593 103,6 
 �F>7>: 71975 344,0 

 
�F>7> 4. 

�G74G56>, 4 
�<=<=> 

178345,3 729,8 875,76 89 

 �E57>: 368056,1 1671,9   

 

� -?<F>6E>>< E5?LE>65F5 EGM5EF6G5F FD< 7>=O 6>4>E=4565=<O. �>4>6>= 

>5N5< ?>44G< 6>4O E>EF46?O5F 368,056 FOE. <3/7>4. 
 

3.3 %FDG>FGD=O= 54?4=E D54?<74F<< 7>DOG5=, ?<FL56>=, F5E=<G5E>>= 

6>4O ?> 7DG??4< 45>=5=F>6 E D475<6>>= =4 E>7O=EF65==>-?<FL56O5 =G64O 

=4E5?5=<O, ?D><76>4EF65==O5 =G64O ND<4<G5E><E ?<F < 4DG7<5 =G64O 

?>E5?5=<= 

&45?<F4 3.3 3 %FDG>FGD=O= 54?4=E D54?<74F<< ?<FL56>= 6>4O 
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&5=FD4?<7>64==4O 
E<EF5<4 

6>4>E=4565=<O 
=4E5?5==>7> ?G=>F4 

 
�5N5< 

D54?<74F<<, <3/EGF 
FOE. <3/7>4 

 
6 F.G. =4E5?5=<N, 

<3/EGF 
FOE. <3/7>4 

6 F.G. 
5N465F=O< 

?>FD55<F5?O<, 
<3/EGF 

FOE. <3/7>4 

6 F.G. 
?D><76>4EF6G < 

4DG7<< 
?>FD55<F5?O<, 

<3/EGF 
FOE. <3/7>4 

1 2 3 4 5 

?. -?<F4 942,1/189,71 899,4/179,163 8/2,920 34,7/7,627 

4. �<=<=> 385,8/106,37 190,6/58,149 0,95/0,348 194,25/47,873 

4. �G74G56>, 344,0/71,975 240,4/46,382 0 103,6/25,593 

6 F.G.��� ,4<>=<    
�&���: 1671,9/368,055 1330,4/283,694 8,95/3,268 332,55/81,093 

 
�>?O =4E5?5=<O 6 6>4>?>FD55?5=<< E>EF46?O5F >>>?> 97%, 5N465F=O5 

?>FD55<F5?< >>>?> 0,5%, ?D><76>4EF6> < ?D>G<5 ?>FD55<F5?< <5=55 2,5%. 

3.4 %6545=<O > D4>F<G5E>>< ?>FD55?5=<< =4E5?5=<5< 7>DOG5=, ?<FL56>=, 

F5E=<G5E>>= 6>4O <EE>4O <7 EF4F<EF<G5E><E < D4EG5F=OE 44==OE < E6545=<= 

> 45=EF6GNM<E =>D<4F<64E ?>FD55?5=<O >><<G=4?L=OE GE?G7 

%>7?4E=> 44==OE F45?<FO 3.2 ?>FD55?5=<5 6>4O =4E5?5=<5< E>EF46?O5F 

368,055 FOE. <3/7>4, 1671,9 <3/EGF. %D54=55 ?>FD55?5=<5 6>4O =4 >4=>7> G5?>65>4 

6 -?<F>6E>>< E5?LE>65F5 E>EF46?O5F 303 ?/EGF (E GG5F>< ?>?<64). 

3.5 �?<E4=<5 EGM5EF6GNM5= E<EF5<O >><<5DG5E>>7> GG5F4 7>DOG5=, 

?<FL56>=, F5E=<G5E>>= 6>4O < ??4=>6 ?> GEF4=>6>5 ?D<5>D>6 GG5F4 

� -?<F>6E>>< E5?LE>65F5 EGM5EF6G5F FD< =5746<E<<O5 E<EF5<O 

F5=FD4?<7>64==>7> 6>4>E=4565=<O: 6 ?. -?<F4, 6 4. �<=<=>, 6 4. �G74G56>. 

� ?. -?<F4 E<EF5<4 >><<5DG5E>>7> GG5F4 ?<FL56>= 6>4O ?D54EF46?O5F E>5>= 

?D<5>DO GG5F4 E>?>4=>= 6>4O, GEF4=>6?5==O5 6 F>G>5 D477D4=<G5=<O 54?4=E>6>= 

?D<=44?56=>EF< <564G ��� «�%�» < ��� «�7D>D5D<5D». � F>G>5 

D477D4=<G5=<O 54?4=E>6>= ?D<=44?56=>EF< GEF4=>6?5=O 3 ?D<5>D4 GG5F4 

E>?>4=>= 6>4O.  

�47<EFD4?L=O5 E5F< 6>4>E=4565=<O 4. �<=<=> < 4. �G74G56> ?D<E>54<=5=O > 

<47<EFD4?L=O< E5FO< 6>4>E=4565=<O 7. �D4E=>ODE>4 (��� «�D4E>><») G5D57 

?>6OL4NMGN =4E>E=GN EF4=F<N, 6 >>F>D>= GEF4=>6?5=O 464 ?D<5>D4 GG5F4 

E>?>4=>= 6>4O, ?> >>F>DO< 6545FEO >><<5DG5E><= GG5F >F?GM5==>= 6 E5FL 6>4O 

<564G ��� «�D4E>><» < ��� «�%�». 
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3.1 �=4?<7 D575D6>6 < 45D<F<F>6 ?D><76>4EF65==OE <>M=>EF5= 6>4>745>D=OE 

E>>DG65=<=. 

&45?<F4 3.4 3 �=4?<7 45D<F<F4 < <75OF>4 ?D><76>4<F5?L=>EF< 6>4>745>D=OE 

E>>DG65=<= 6 -?<F>6E>>< E5?LE>65F5 

�4<<5=>6
4=<5 

=4E5?5==
>7> 

?G=>F4 

�>?<G5EF6> 
?>FD55<F5?5

= ?> 
E>EF>O=<N 
=4 1 O=64DO 

2022 7., 
4><>E>7O=EF

6/ G5?. 

&D55G5<O= 
D4EE>4 6>4O, 

=4 
E>7?<FL56O5 

=G64O 
=4E5?5=<O 
FOE. >G5 

</7>4 

�D><76>4<F5
?L=> EFL 

6>4>745>D=O
E 

E>>DG65=<=, 
FOE. >G5 

</7>4 

�5D<F<F 
?D><76>4<F5

?L= >EF< 
6>4>745>D=O

E 
E>>DG65=<=, 

FOE. >G5 
</7>4 

$575D6 
?D><76>4<F5? 

L=>EF< 
6>4>745>D=O 

E E>>DG65=<=, 
FOE. >G5 

</7>4 

?. -?<F4 1208/2202 243,50 750,00 - 506,5 

 
$575D6 ?D><76>4<F5?L=>EF< 6>4>745>D=OE E>>DG65=<= 6 ?. -?<F4 E>EF46?O5F 

506,5 FOE. <3/7>4. 

3.2 �D>7=>7=O5 54?4=EO ?>FD55?5=<O 7>DOG5=, ?<FL56>=, F5E=<G5E>>= 

6>4O <EE>4O <7 F5>GM57> >5N5<4 ?>FD55?5=<O 6>4O =4E5?5=<5< < 57> 

4<=4<<>< E GG5F>< ?5DE?5>F<6O D476<F<O < <7<5=5=<O E>EF464, < EFDG>FGDO 

74EFD>=>< 

�>4>E>7O=EF65==O= 54?4=E 6>4>?>?L7>64F5?O =4 2022 7. E>EF46?5= E GG5F>< 

D>EF4 G<E?5==>EF< =4E5?5=<O, E>7?4E=>, ?D>5>F4 75=5D4?L=>7> ??4=4. 
 

&45?<F4 3.4 3 �D>7=>7=O= 54?4=E 6>4>E=4565=<O -?<F>6E>>7> E5?LE>65F4 =4 

2023 7. 

�4<<5=>64=<5 
�>4=OF>/?D<=OF> 

6>4O, 
<3/EGF, FOE. <3/7>4 

�>4>?>FD55?5=<5, <3/EGF, FOE. <3/7>4 �576>76D4F=>5 
?>FD55?5=<5/ 

?>F5D<, <3/EGF, 
FOE. <3/7>4 

=4 
E>5EF65==O5 

=G64O 
D54?<7>64=> 

1 2 3 4 5 

?. -?<F4 1282,99/308,086 105/38,455 979,78/197,298 198,21/72,33(36%) 

4. �<=<=> 479,97/139,133 - 401,23/110,093 78,74/29,040(26%) 

4. �G74G56> 449,72/108,127 - 357,76/76,295 91,96/31,832(42%) 

 
 

$����� 4. �$��������/ �� %&$��&��,%&�', 

$����%&$'�&�� � ����$����&�� ��.��&�� 
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&��&$���������/% %�%&�� ����%�������/ 

4.1 �5D5G5=L >E=>6=OE <5D>?D<OF<= ?> D54?<74F<< EE5< 

6>4>E=4565=<O E D475<6>>= ?> 7>44< 

� ED5D5 6>4>E=4565=<O EE5<>= ?D54?474NFEO E?54GNM<5 <5D>?D<OF<O: 

1. '65?<G5=<5 ?D><76>4<F5?L=>EF< =4E>E=>= EF4=F<< 6 ?. -?<F4, <>D=. �<4=O= 6 

2023 7.  

2. '65?<G5=<5 ?D><76>4<F5?L=>EF< =4E>E=>= EF4=F<< ?> G?. �>D<?LE>4O 6 2023 7. 

3. �>4>?NG5=<5 > F5=FD4?<7>64==>= E<EF5<5 6>4>E=4565=<O 7. �D4E=>ODE>4 20247: 

3.1. $5>>=EFDG>F<O =4E>E=>= EF4=F<< ?> G?. �>D<?LE>4O (G65?<G5=<5 

?D><76>4<F5?L=>EF<) (��%-1)  

3.2. %FD><F5?LEF6> =4E>E=>= EF4=F<< 6>7?5 46F>4>D>7< 04>-297 6 D4=>=5 45D. 

�<=<=> (G65?<G5=<5 ?D><76>4<F5?L=>EF<) (��%-2) 

3.3. %FD><F5?LEF6> =4E>E=>= EF4=F<< 6 D4=>=5 ?>E5?>4 �5>D7<56E><= E> 

EFD><F5?LEF6>< ?<=<< 10>� >F �% �75D=4O < FD4=ED>D<4F>D=>= ?>4EF4=F<< 

(��%-3)  

3.4. %FD><F5?LEF6> 6>4>?D>6>4=>= E5F< >F ��%-2 4> ��%-3 ?D>FO65==>EFLN 5,2 >< 

(4<4<5FD < ?D>FO65==>EFL GF>G=<FL ?D< ?D>5>F<D>64=<<)  

3.5. %FD><F5?LEF6> 6>4>?D>6>4=>= E5F< >F ��%-3 4> ??>M44>< D57G?<DGNM<E 

D575D6G4D>6 ?>E. -?<F4 (<>D=. �<4=O=) ?D>FO65==>EFLN 5,8 >< (4<4<5FD < 

?D>FO65==>EFL GF>G=<FL ?D< ?D>5>F<D>64=<<)  

3.6. %FD><F5?LEF6> D57G?<DGNM<E D575D6G4D>6 ?>E. -?<F4 (<>D=. �<4=O=) 

4. >4?<F4?L=O= D5<>=F 6>4>?D>6>4=OE E5F5= ?. -?<F4 2025-2026 7.7.; 

5. D47D45>F>4 < GF65D645=<5 6 >D74=4E <E?>?=<F5?L=>= 6?4EF< $>EE<=E>>= 

$545D4F<< ?D>5>F>6 7>= E4=<F4D=>= >ED4=O 6>4=OE >5N5>F>6, <E?>?L7G5<OE 4?O 

?<FL56>7> 6>4>E=4565=<O, E>7O=EF65==>-5OF>6>7> 6>4>E=4565=<O, 4 F4>65 

GEF4=>6<FL 7D4=<FO < D56<< MF<E 7>= =4 <5EF=>EF< < 6 7D44>EFD><F5?L=>= 

4>>G<5=F4F<< E5?LE>>7> ?>E5?5=<O, E>7?4E=> ?D>5>F4 2023-2024 7.7.; 
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�>=D<7GD4F<O, <4F5D<4? < 4<4<5FDO FDG5 >?D545?OFEO 6 E>45 ?D>5>F=OE D45>F. 
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'>474==O5 D45>FO ?D54?>?4745FEO ?D>6>4<FL 74 EG5F ?D<6?5G5=<O G4EF=OE 

<=65EF<F<= <?< 74 EG5F ED54EF6 5N465F>6 D47?<G=OE GD>6=5=. 

4.12 �55E?5G5=<5 6>4>E=4565=<O >5N5>F>6 ?5DE?5>F<6=>= 74EFD>=>< 

=4E5?5==>7> ?G=>F4 

&4> >4> 4>FG4?<7<D>64==O= ?D>5>F 7D44>EFD><F5?L=>7> ??4=4 >FEGFEF6G5F, 

=56>7<>6=> >?D545?<FL < D4EEG<F4FL >55E?5G5=<5 6>4>E=4565=<O >5N5>F>6 

?5DE?5>F<6=>= 74EFD>=>< =4E5?5==>7> ?G=>F4. 

4.13 %>>D4M5=<5 ?>F5DL 6>4O ?D< 55 FD4=E?>DF<D>6>5 

� D4<>4E <5D>?D<OF<=, =4?D46?5==OE =4 E>>D4M5=<5 ?>F5DL 6>4O ?D< 55 

FD4=E?>DF<D>6>5, EE5<>= ?D54?4745FEO 74<5=4 <7=>L5==OE GG4EF>>6 

FDG5>?D>6>4>6 E5F< 6>4>E=4565=<O, 4 F4>65 74<5=4 D57G?<D>6>G=>= < 74?>D=>= 

4D<4FGDO, =4E>4OM5=EO 6 464D<==>< E>EF>O=<<. 
 

4.14 �O?>?=5=<5 <5D>?D<OF<=, =4?D46?5==OE =4 >55E?5G5=<5 

E>>F65FEF6<O >4G5EF64 ?<FL56>= 6>4O, 7>DOG5= 6>4O 

�?O >?D545?5=<O F>G=OE ?>>474F5?5= 747DO7=5=<= < 6>7<>6=>EF< ?>45>D4 

FD55G5<>= EE5<O >G<EF><, =5>5E>4<<> ?D>65EF< 4=4?<7O ?> E?54GNM<< 

?>>474F5?O<: 

- <<>D>5<>?>7<G5E><5; 

- >D74=>?5?F<G5E><5; 

- >5>5M5==O5; 

- =5>D74=<G5E><5 < >D74=<G5E><5 65M5EF64; 

- D44<>?>7<G5E><5. 

�5>5E>4<<> ?5D<>4<G5E>< ?D><76>4<FL >F5>D ?D>5 4>5O645<>= 6>4O < 

?45>D4F>D=O5 <E?OF4=<O =4 E>>F65FEF6<5 >4G5EF64 =>D<4F<6=O< ?>>474F5?O<. 

�>E?5 74>?NG5=<O ?45>D4F>D<<, ?D< =5>5E>4<<>EF<, >>DD5>F<DG5FEO D45>F4 

>G<EF=OE E>>DG65=<=, <E E>EF46 < ?D><76>4<F5?L=>EFL. 

�D><5 F>7>, 4>?6=O 5OFL 74?D>5>F<D>64=O 7>=O E4=<F4D=>= >ED4=O 6>4=OE 

>5N5>F>6, GEF4=>6?5=O <E 7D4=<FO < D56<< MF<E 7>= =4 <5EF=>EF< < 6 

7D44>EFD><F5?L=>= 4>>G<5=F4F<< ?>E5?5=<O. � 7D4=<F4E 7>= =5>5E>4<<> 

E>5?N44FL ?D54?<EO645<O5 FD55>64=<O > =<<. 
 

$����� 5. -������'�%��� �%���&/ ��$��$�/&�� �� 
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%&$��&��,%&�', $����%&$'�&�� � ����$����&�� ��.��&�� 

&��&$���������/% %�%&�� ����%�������/ 

5.1 �5D>?D<OF<O ?> ?D54>F6D4M5=<N =574F<6=>7> 6?<O=<O =4 6>4=O= 

54EE5== ?D< EFD><F5?LEF65, D5>>=EFDG>F<< >5N5>F>6 F5=FD4?<7>64==OE 

E<EF5< 6>4>E=4565=<O ?D< E5D>E5 (GF<?<74F<<) 

�ED4=4 ?>475<=OE 6>4 ?>4D47G<5645F ?>4 E>5>= ?D>6545=<5 <5D>?D<OF<= ?> 

46G< >E=>6=O< =4?D46?5=<5< 3 =54>?GM5=<N <EF>M5=<O D5EGDE>6 ?>475<=OE 

6>4 < 74M<F4 <E >F 747DO7=5=<O. 

�E=>6=O5 <5D>?D<OF<O, =4?D46?5==O5 =4 ?D54>F6D4M5=<5 747DO7=5=<O < 

<EF>M5=<O ?>475<=OE 6>4: 

- ?D>6545=<5 7<4D>75>?>7<G5E><E <7OE>4=<=, GF65D645=<5 74?4E>6 

?>475<=OE 6>4; 

- GEF4=>6>4 6>4><7<5D<F5?L=>= 4??4D4FGDO =4 >464>= E>646<=5, 4?O 

>>=FD>?O =44 >>?<G5EF6>< >F5<D45<>= 6>4O; 

- D5>>=EFDG>F<O E<EF5< F5=FD4?<7>64==>7> 6>4>E=4565=<O 6 =4E5?5==>< 

?G=>F5 E <E?>?L7>64=<5< ?>475<=OE <EF>G=<>>6; 

- >D74=<74F<O 6>>DG7 >464>= E>646<=O 7>= >ED4=O 3 I, II, III ?>OE>6; 

- 6O=>E <7 II < III ?>OE>6 7>=O E4=<F4D=>= >ED4=O 6E5E ?>F5=F<4?L=OE 

<EF>G=<>>6 747DO7=5=<O; 

- ?D>6545=<5 5657>4=>7> ?D>D<?4>F<G5E>>7> D5<>=F4 E>646<= E<?4<< 

6>4>?>?L7>64F5?5=; 

- ?D<6545=<5 6>4>>F5>D4 =4 EGM5EF6GNM<E 6>4>745>D4E 6 E>>F65FEF6<5 

GF65D645==O< 74?4E4< ?>475<=OE 6>4, =54>?GM5=<5 ?5D5>F5>D4 6>4O < 

<EF>M5=<O 6>4>=>E=OE 7>D<7>=F>6; 

- F4<?>=4F<O 745D>L5==OE E>646<=; 

- E<EF5<4F<G5E>>5 6O?>?=5=<5 54>F5D<>?>7<G5E><E < E<<<G5E><E 4=4?<7>6 

6>4O, ?>44645<>= ?>FD55<F5?N; 

- ?> M>E??G4F4F<>==O< E>646<=4<, 6 E6O7< E >FEGFEF6<5< ?> 5>?LL<=EF6G 

4>EF>65D=>= <=D>D<4F<<, D5>><5=4G5FEO ?D>6545=<5 >5E?54>64=<O E>646<=, ?> 

D57G?LF4F4< >>F>D>7> >F5=<645FEO 4>?GEF<<O= 6>4>>F5>D <7 F>= <?< <=>= 

E>646<=O; 
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- F5DD<F>D<O 6>>DG7 D>4=<>>6 < >>?>4F56 4>?6=4 5OFL 5?47>GEFD>5=4 < 

E??4=<D>64=4, =5>5E>4<<> =4?<G<5 7?<=O=OE 74<>>6, 55F>=<D>64==>= >F<>EF>< 

6>>DG7 >>?>4F56, 4>?6=>7> >F6>44 6>4O, ?D>6545=<5 ??4=>6>7> < F5>GM57> 

D5<>=F4, G<EF>< < 457<=D5>F<<; 

- 6 E5?LE>>< =4E5?5==>< ?G=>F5 GE<?5=<5 >>=FD>?O 74 GF<?<74F<5= 

6O7D55=OE EF>>>6. 

�4 6E5E 6>4>745>D4E =5>5E>4<<4 >D74=<74F<O E?G65O <>=<F>D<=74 ?> 

6545=<N 7<4D>75>?>7<G5E>>7> >>=FD>?O =44 D56<<>< M>E??G4F4F<< E>646<= < 

>4G5EF6>< 6>4O, ?>44645<>= ?>FD55<F5?N. 

� F5?OE ?D54>ED4=5=<O <EF>G=<>>6 6>4>E=4565=<O >F 6>7<>6=>7> 

747DO7=5=<O 6 E>>F65FEF6<< E FD55>64=<O<< %4=�<� 2.1.4.1110-02 «�>=O 

E4=<F4D=>= >ED4=O <EF>G=<>>6 6>4>E=4565=<O < 6>4>?D>6>4>6 ?<FL56>7> 

=47=4G5=<O» ?D54GE<4FD<645FEO E<EF5<G <5D, >55E?5G<64NM<E E4=<F4D=GN 

>ED4=G ?>475<=OE 6>4, ?D54GE<4FD<645F >D74=<74F<N < D57G?<DG5<GN 

M>E??G4F4F<N 7>= E4=<F4D=>= >ED4=O (�%�) <EF>G=<>>6 ?<FL56>7> 

6>4>E=4565=<O. �>=O E4=<F4D=>= >ED4=O >D74=<7GNFEO <7 FD5E ?>OE>6: 

1- = ?>OE 3 D44<GE 7>=O E4=<F4D=>= >ED4=O 6>>DG7 E>646<= ?D<=<<45FEO 30 

<. �>=4 >7D46445FEO 745>D><, 6 =5= 74?D5M45FEO ?D55O64=<5 ?>EF>D>==<E ?N45=. 

2- = < 3-= ?>OE4 3 ?>?>65=<5 D4EG5F=OE 7D4=<F 7>= E4=<F4D=>= >ED4=O 

>?D545?O5FEO D4EG5F=O< ?GF5<, E>>F65FEF65==> =4 400 EGF>> 6O6<645<>EF< 

54>F5D<= 6 GE?>6<OE ?>475<=>7> 6>4>745>D4 < ED>>4 4<>DF<74F<<, E GG5F>< 

6D5<5=< 46<65=<O EF>=>>7> 747DO7=5=<O >F 7D4=<FO 7>= E4=<F4D=>= >ED4=O. 

�D4=<FO 7>= >?D545?ONFEO < >5>E=>6O64NFEO E?5F<4?L=O< ?D>5>F><. 

�4 6E5E 6>4>745>D4E 4>?6=O 5OFL ?D>6545=O <5D>?D<OF<O 6 E>>F65FEF6<< E 

FD55>64=<O<< %4=�<� 2.1.4.1110-02. 

�>=O >ED4=O ?D54GE<4FD<64NFEO =4 6E5E ?D>5>F<DG5<OE < 

D5>>=EFDG<DG5<OE 6>4>?D>6>44E E>7O=EF65==>-?<FL56>7> =47=4G5=<O. �>=O 

6>?NG4NF: 7>=O <EF>G=<>4 6 <5EF5 745>D4 6>4O, 7>=O < E4=<F4D=>-74M<F=O5 

?>?>EO =4E>E=OE EF4=F<=, >G<EF=OE E>>DG65=<= 6>4O, D575D6G4D>6, 6>4>6>4>6 

(?. 10.20 %�<� «�>4>E=4565=<5».) 

�>=O E>EF>OF <7 3-E ?>OE>6; ?D>5>FO 7>= 4>?6=O 5OFL D47D45>F4=O E 
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<E?>?L7>64=<5< 44==OE E4=<F4D=>-F>?>7D4D<G5E>>7> >5E?54>64=<O F5DD<F>D<=, 

7<4D46?<G5E><E, 7<4D>75>?>7<G5E><E < F>?>7D4D<G5E><E <4F5D<4?>6 4?O >464>7> 

<7 6>4>745>D>6. &D< ?>OE4 7>=O E4=<F4D=>= >ED4=O E>EF>OF: 

I ?>OE 3 EFD>7<= D56<<; 

II 3 III >7D4=<G5=<5 < =45?N45=<5; 

�>65DE=>EF=O5 <EF>G=<><. 

$5>< < 6>4>?>46>4OM<5 >4=4?O >F =<E (?. 10.8 ÷10.11) =5 <5=55: I ?>OE 3 100 

<, II ?>OE 3 >F 250 4> 1000 < 6 746<E<<>EF< >F G>474==OE 6OL5 GE?>6<= < 

D4EG5F>6 ?D>5>F4; III ?>OE 3 665DE < 6=<7 ?> F5G5=<N E>6?4445F E> II ?>OE><, 4 

5>>>6O5 7D4=<FO, ?D<=>EOM<5 ?>65DE=>EF=O5 < 7DG=F>6O5 747DO7=5=<O > <5EFG 

6>4>745>D4 3F4>65 ?> <5EF=O< GE?>6<O<, 6 ?D545?4E =5 5>?55 3÷5 ><. 

�>475<=O5 <EF>G=<>< 

�>=O E4=<F4D=>= >ED4=O GEF4=46?<64NFEO >F >464>7> >4<=>G=>7> 

6>4>745>D4, (E>646<=O) L4EF=>7> >>?>4F4, >4?F<D>64==OE D>4=<>>6, 4 F4>65 >F 

>D4==<E 6>4>745>D=OE E>>DG65=<= 7DG??>6>7> 6>4>745>D4. 

�?O ?>475<=OE 6>4>745>D>6 ?D54GE<4FD<645FEO E?54GNM<5 ?>OE4 

E4=<F4D=>= >ED4=O: I ?>OE 3 EFD>7<= D56<< 30÷50 <, 6 746<E<<>EF< >F EF5?5=< 

74M<M5==>EF< 7>D<7>=F4), II ?>OE4 (?. 10.14 %�<� «�>4>E=4565=<5 2-04.02-84») 

?> D4EG5FG, - 4?O >464>7> ?>>4?L=>7> 6>4>745>D4 <?< 7DG??O E>646<= 

GG<FO64NM57> 6D5<O 6>7<>6=>7> ?D>46<65=<O 747DO7=5=<=, 746<EOM57> >F 

GE?>6<= >>=>D5F=>= F5DD<F>D<< 3 F>?>7D4D<<, >?<<4F4, 7DG=F>6OE GE?>6<= < 4D. 

D4>F>D>6, 6 <F>75 =5 <5=55 100÷400 EGF>>, III ?>OE4 3 =5 <5=55 25 ?5F. �D< 

<=D<?LFD4F<>==>< ?<F4=<< 6>4>=>E=>7> ??4EF4, 4 F4>65 ?D< <E>GEEF65==>< 

?>?>?=5=<< 74?4E>6 ?>475<=OE 6>4 <7 5?<7D4E?>?>65==OE ?>65DE=>EF=OE 6>4, II 

< III ?>OE4 7>=O >ED4=O ?D<=<<4NFEO ?> ?.?. 10.9-10.11 G>474==>7> %�<�, F4>65 

?> ?>>4?L=O< 7<4D>75>?>7<G5E><< GE?>6<O<, => =5 <5=55 3÷5 >< >F 7D4=<F 

6>4>745>D4. 

�4 6E5E 7>=4E GEF4=46?<645FEO D56<<, E ?D5464D<F5?L=> 6O?>?=5==O<< 

<5D>?D<OF<O<<, 6>?NG4NM<<<: 

1. �4 6>4>?D>6>4=OE E>>DG65=<OE (?. 10.17÷10.19) I ?>OE 7>=O >ED4=O 

15÷30 < (>4> <E>?NG5=<5 ?D< E>7?4E<< E4=<F4D=OE E?G65 10<). %4=<F4D=>- 

74M<F=4O ?>?>E4 6>>DG7 I ?>OE4 - =5 <5=55 100 < (?D< E>7?4E>64=<< 3 4> 30 <), 6 
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?D545?4E 7>= <5D>?D<OF<O ?> ?. 10.36-10.37. 

2. �>4>6>4O (?. 10.20) >ED4=ONFEO E4=<F4D=>-74M<F=>= ?>?>E>=, 

?D>E>4OM5= 6: 

- EGE<E 7DG=F4E 3 =5 <5=55 50 <, =5746<E<<> >F 4<4<5FD4 6>4>6>44; 

- 6 ?D545?4E 7>= 3 <5D>?D<OF<O ?> ?.?. 10.38 3 10.39; 

3. �EF>G=<>< (10.21-10.35) >E=>6=O5 ?>?>65=<O 6>?NG4NF 4?O 

?>65DE=>EF=OE: 

I ?>OE: ??4=<D>6>4 F5DD<F>D<< >7>D46<64=<5, >75?5=5=<5 (E GG5F>< %�441- 

72 G>474=<= ?> >7D4645=<N, => =5 <5=55 2,5 < 7?GE>5 < 0,5 3 E5F>4, >>?NG4O 

?D>6>?>>4); 

�>64F>D<O 7>= 3 >5>7=4G5=<5 =475<=O<< 7=4>4<<, 5GO<<, E<7=4?<74F<5= E 

>E65M5=<5< 6 F5<=>5 6D5<O. 

�4?D5M5=O =4 F5DD<F>D<< I 7>=O: %FD><F5?LEF6>, =5 >F=>EOM55EO > 

F5E=>?>7<< 6>4>?D>6>4=>7> >5N5>F4, ?D>6<64=<5 ?N45=, 6 F.G. D45>F4NM<E =4 

>5N5>F5, >G?4=<5, 6O?4E E>>F4, EF<D>4, DO5=4O ?>6?O, >?DOE><64=<5 75?5=OE 

=4E4645=<= O4>E<<<>4F4<<. 

�5O74F5?L=> 3 6E5 744=<O 4>?6=O 5OFL >4=4?<7>64=O, EF>>< >4> E>7- 

5OF>6O5, F4> < ?D><76>4EF65==>-?<6=56O5 (F4?O=, 4>6456>=, ?>?<6><>5G=O5 

6>4O F5E=>?>7<G5E><E F<>?>6 6>4>E=4565=<O) 4>?6=O 5OFL 6O6545=O 74 

?D545?O I ?>OE4 < >G<M5=O (10.24). �>?GE>45FEO F>?L>> E4=<F4D=4O DG5>4 

75?5=OE =4E4645=<=. 

II ?>OE: �5>5E>4<<> 3 (?. 10.25) 

- $57G?<D>64FL >F6545=<5 F5DD<F>D<= ?>4 74EFD>=>G >5N5>F4<< E 

6>7<>6=>= >?4E=>EFLN 747DO7=O5FEO >F =<E <EF>G=<>4 6>4O. 

- �?47>GEFD4<64FL EGM5EF6GNM<5 >5N5>FO < 75?5=O5 7>=O F5DD<F>D<= 

.�4?D5M5=> (?. 10.26) 

- �47DO7=OFL F5DD<F>D<N <GE>D><, =46>7><, ?D><OL?5==O<< >FE>44<<; 

- $47<5M4FL E>?44O O4>E<<<>4F>6, 7>DNG5-E<47>G=OE < <<=5D4?L=OE 

<4F5D<4?>6; 

- $47<5M4FL >?445<M4, E>>F><>7<?L=<><, ?>?O 4EE5=<74F<<, D<?LFD4F<<, 

?>?O >D>L5=<O, =46>7>ED4=<?<M4, E<?>E=O5 FD4=L5<, 6<6>F=>6>4G5E><5 < 
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?F<F56>4G5E><5 ?D54?D<OF<O, ?> F5E=>?>7<< >>F>DOE 6>7<>6=> 747DO7=5=<5 

F5DD<F>D<<. 

- �D<<5=OFL O4>E<<<>4FO < E<<<G5E><5 G4>5D5=<O ?D< 6OD4M<64=<<; 

� 4>?>?=5=<5 > D56<<G II ?>OE4 

�>?GE>45FEO (?. 10.27) 

- �F<F5D476545=<5, EF<D>4, >G?4=<5, FGD<7<, E?>DF =4 6>45 - 6 

GEF4=>6?5==OE <5EF4E E E>7?4E>64==O< D56<<><; 

� III ?>OE5 74M<FO ?>65DE=>EF=>7> <EF>G=<>4 3 <5D>?D<OF<O E<. 6OL5, 

G>474==>5 4?O II ?>OE4 ?> ?. 10.25. 

� ?5E4E - D47D5L45FEO DG5>4 ?5E4 ?> D57?4<5=FG ?5E>747>F>6<F5?5=, 

E>7?4E>64==><G 6 GEF4=>6?5==>< D56<<5 44<<=<EFD4F<5= F5DD<F>D<<. �?O 

6>4>745>D>6 <7 ?>65DE=>EF=OE 6>4 >4=4?>6 < 6>4>ED4=<?<M =5>5E>4<<>: 

- $57G?OD=4O >G<EF>4 >F 4>==OE >F?>65=<=, 6>4=>= D4EF<F5?L=>EF< E 

?D5?4D4F4<<, E>7?4E>64==O<< E4=<F4D=>= E?G65>= (?. 10.30) 

�5D>?D<OF<O 4?O ?>475<=OE <EF>G=<>>6 6>4>E=4565=<O: 

I ?>OE EFD>7>7> D56<<4 E>6?4445F E <5D>?D<OF<O<< ?>65DE=>EF=OE 

<EF>G=<>>6 3 (?. 10.21.10.23, ?. 10.24, 10.25, 10.26), F.5. >7>D46<64=<5, >ED4=4, 

74?D5F<F5?L=O5 <5DO 6 ?D545?4E 30-50 <; >D><5 F>7>, =5>5E>4<<>: 

- �OO6?OFL < F4<?>=<D>64FL, 6>EEF4=46?<64FL 6E5 EF4DO5 55745=EF6GNM<5, 

45D5>F=O5, =5?D46<?L=> M>E??G4F<DG5<O5 E>646<=O < L4EF=O5 >>?>4FO, 

?D54EF46?ONM<5 >?4E=>EFL 747DO7=5=<O <E?>?L7G5<OE 7>D<7>=F>6 ?>475<=OE 

6>4. 

- $57G?<D>64FL 5GD5=<5 =>6OE E>646<= 

- �4?D5M4FL 74>4G>G >FD45>F4==OE 6>4 6 ??4EFO, ?>475<=>5 E>?44<D>64=<5 

>FE>4>6 < D47D45>F>G =54D, ?<>6<44F<N ?>7?>M4NM<E E>646<= < L4EF=OE 

>>?>4F56, >>F>DO5 <>7GF 747DO7=<FL ?>475<=O5 6>4O; 

�?O ?>4DGE?>6OE 6>4>745>D>6 ?>475<=OE 6>4 GG4EF>4 ?>65DE=>EF=OE 6>4 

(D5><, 6>4>ED4=<?<M4) ?<F4NM<E <=D<?LFD4F<>==O= 6>4>745>D <?< 

<E?>?L7G5<O= 4?O ?>?>?=5=<O 74?4E>6 ?>475<=OE 6>4 ?D<=<<4FL <5D>?D<OF<O 

>4> 4?O ?>65DE=>EF=OE <EF>G=<>>6 6>4>E=4565=<O. 

�5D>?D<OF<O =4 F5DD<F>D<OE E>>DG65=<= < 6>4>6>4>6 3 ?> ?. %�<� 
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�>4>E=4565=<5» 2.04.02-84* 10.21, 10.24, 14.5, 10.32, E >5O74F5?L=O<< GE?>6<O<< 

6 F.G. 3 =4 MF<E GG4EF>4E 7>= 4>?6=O >FEGFEF6>64FL: G5>D=O5 E 6O7D55>< 557 

?>?=>= 75D<5F<74F<<, ?><>==O5 O<O, =46>7>ED4=<?<M4, ?D<5<=<>< <GE>D4 
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%<<<G5E><5 D5475=FO 6 -?<F>6E>>< E5?LE>65F5 =5 <E?>?L7GNFEO 6 E6O7< E 
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�> 6F>DGN 7DG??G 6>?NG5=O ?>>474F5?<, =47O645<O5 ?>>474F5?O<< 
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�?4= <5D>?D<OF<= ?> ?<>6<44F<< 464D<==OE E<FG4F<= ?D<6545= 6 F45?<F5 

7.1. 

&45?<F4 7.1 2 �?4= <5D>?D<OF<= ?> ?<>6<44F<< 464D<==OE E<FG4F<= 
 

7 
?/? 

 
�4<<5=>64=<5 <5D>?D<OF<= 

�F65FEF65==O= 
74 <E?>?=5=<5 

%D>> 
<E?>?=5=<O 

1 2 3 4 
 

1 
� E?GG45 6>7=<>=>65=<O '% =5>5E>4<<> ?D5>D4F<FL 
?>44GG 6>4O, >?>65EF<FL F5DD<F>D<4?L=O= >F45? 
$>E?>FD55=447>D4, 44<<=<EFD4F<N E5?LE>>7> ?>E5?5=<O 
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F5=FD4?<7>64==>= E<EF5<O 6>4>>F6545=<O, >4=4>> 6 -?<F>6E>>< E5?LE>65F5 E 
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6OE>>><G F4D<DG =4 6>4>>F6545=<5. �?O ?>?GG5=<O ?>?=>7> F<>?4 6>4>>F6545=<O 

< E F5?LN <<=<<<74F<< 74FD4F =4 >G<EF>G EF>G=OE 6>4, ?GF5< <E>?NG5=<O 

FD4=E?>DF=>= E>EF46?ONM5= ?D< FD4=E?>DF<D>6>5 EF>>>6 =4 >G<EF=O5 

E>>DG65=<O 4DG7<E =4E5?5==OE ?G=>F>6, 6 ?. -?<F4 FD55G5FEO EFD><F5?LEF6> 

>G<EF=OE E>>DG65=<=. 

�56<?O5 744=<O, 6<?O5 4><4 G4EF=>7> E5>F>D4 ?>E5?>4 -?<F4, =5 

?>4>?NG5==O5 > F5=FD4?<7>64==>= E<EF5<5 6>4>>F6545=<O >5>DG4>64=O 

=446>D=O<< G5>D=O<<, 6O7D55=O<< O<4<<, < <=4<6<4G4?L=O<< E5?F<>4<<. 

1.2 �?<E4=<5 D57G?LF4F>6 F5E=<G5E>>7> >5E?54>64=<O F5=FD4?<7>64==>= 

E<EF5<O 6>4>>F6545=<O, 6>?NG4O >?<E4=<5 EGM5EF6GNM<E >4=4?<74F<>==OE 

>G<EF=OE E>>DG65=<=, 6 F>< G<E?5 >F5=>G E>>F65FEF6<O ?D<<5=O5<>= 
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F5E=>?>7<G5E>>= EE5<O >G<EF>< EF>G=OE 6>4 FD55>64=<O< >55E?5G5=<O 

=>D<4F<6>6 >4G5EF64 >G<EF>< EF>G=OE 6>4, >?D545?5=<5 EGM5EF6GNM57> 

45D<F<F4 (D575D64) <>M=>EF5= E>>DG65=<= < >?<E4=<5 ?>>4?L=OE >G<EF=OE 

E>>DG65=<=, E>744645<OE 45>=5=F4<<. 

&5=FD4?<7>64==4O E<EF5<4 6>4>>F6545=<O <>D. �<4=O= ?. -?<F4 

?D54EF46?O5F E>5>= 557=4?>D=O5 >64DF4?L=O5 E5F<, <47<EFD4?L=O5 557=4?>D=O5 

E5F< 6>4>>F6545=<O, >4=4?<74F<>==GN =4E>E=GN EF4=F<N, =4?>D=O= >>??5>F>D, 

>4<5DG 74L5=<O < =4>>?<F5?L=O5 5<>>EF< 4?O EF>G=OE 6>4. 

&5=FD4?<7>64==4O E<EF5<4 6>4>>F6545=<O ?. -?<F4 ?D54EF46?O5F E>5>= 

557=4?>D=O5 >64DF4?L=O5 E5F<, <47<EFD4?L=O5 557=4?>D=O5 E5F< 6>4>>F6545=<O 

< =4>>?<F5?L=O5 5<>>EF< 4?O EF>G=OE 6>4. 

%<EF5<O >G<EF>< EF>>>6 6 -?<F>6E>>< E5?LE>65F5 >FEGFEF6GNF. 

1.3 �?<E4=<5 F5E=>?>7<G5E><E 7>= 6>4>>F6545=<O, 7>= 

F5=FD4?<7>64==>7> < =5F5=FD4?<7>64==>7> 6>4>>F6545=<O < ?5D5G5=L 

F5=FD4?<7>64==OE E<EF5< 6>4>>F6545=<O. 

&5=FD4?<7>64==O5 E<EF5<O 6>4>>F6545=<O ?. -?<F4 >E64FO64NF E?54GNM<5 

G?<F4: ?5D. �5D57>6O=, G?. �<4=4O, ?5D. �D<5=>=, G?. �<6=4O, G?. �>5D4O, G?. 

�?5=>64O, ?5D. �54>6O=, G?. �<>D>D4=>=, ?5D. �D5E>6O=, G?. �FD44=4O, G?. 

�D<>75D=4O, ?5D. $O5<=>6O=, G?. %65F?4O, G?. %<5<DE><= FD4>F, G?. %>?=5G=4O, G?. 

&<E4O, G?. 'NF=4O, 5G?L64D &65F=>=. 

�5N5>FO >4?<F4?L=>7> EFD><F5?LEF64 ?. -?<F4, =5 ?>4>?NG5==O5 > 

F5=FD4?<7>64==O< E<EF5<4< 6>4>>F6545=<O >5>DG4>64=O <=4<6<4G4?L=O<< 

E5?F<>4<<. 

� 4. �<=<=> < 4. �G74G56> E<EF5<O F5=FD4?<7>64==>7> 6>4>>F6545=<O 

>FEGFEF6GNF, =4 44==OE F5DD<F>D<OE D54?<7>64=4 =5F5=FD4?<7>64==4O E<EF5<4 

6>4>>F6545=<O, 6E5 G4EF=O5 4><>6?445=<O >5>DG4>64=O <=4<6<4G4?L=O<< 

E5?F<>4<<. 

1.4 �?<E4=<5 F5E=<G5E>>= 6>7<>6=>EF< GF<?<74F<< >E44>>6 EF>G=OE 6>4 

=4 >G<EF=OE E>>DG65=<OE EGM5EF6GNM5= F5=FD4?<7>64==>= E<EF5<O 

6>4>>F6545=<O. 

� -?<F>6E>>< E5?LE>65F5 >FEGFEF6GNF E>>DG65=<O 4?O >5D45>F>< >E44>>6. 

1.5 �?<E4=<5 E>EF>O=<O < DG=>F<>=<D>64=<O >4=4?<74F<>==OE 
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>>??5>F>D>6 < E5F5=, E>>DG65=<= =4 =<E, 6>?NG4O >F5=>G <E <7=>E4 < 

>?D545?5=<5 6>7<>6=>EF< >55E?5G5=<O >F6>44 < >G<EF>< EF>G=OE 6>4 =4 

EGM5EF6GNM<E >5N5>F4E F5=FD4?<7>64==>= E<EF5<O 6>4>>F6545=<O. 

%<EF5<4 F5=FD4?<7>64==>7> 6>4>>F6545=<O ?. -?<F4 (>D><5 <>D. �<4=O=) 

=4E>4<FEO 6 =5G4>6?5F6>D<F5?L=>< E>EF>O=<<, <47<EFD4?L=O5, >64DF4?L=O5 E5F< < 

=4>>?<F5?L=O5 5<>>EF< <7=>L5=O =4 100% < FD55GNF >4?<F4?L=>7> D5<>=F4. 

�D><56GF>G=O5 E<>FD>6O5 >>?>4FO 74<?5=O < <<5NF E?54O D47DGL5=<O, GF> 6 

E6>N >G5D54L ?D<6>4<F > G4EFO< 74E>D4< < D>7?<6G EF>G=OE 6>4 =4 D5?L5D. 

�D><5 F>7>, 6 E6O7< E F5<, GF> 6 ?. -?<F4, E ?><>MLN F5=FD4?<7>64==>= E<EF5<O 

6>4>>F6545=<O >EGM5EF6?O5FEO F>?L>> ?D<5<>4 < FD4=E?>DF<D>6>4 EF>G=OE 6>4, 

4> =4>>?<F5?L=OE 5<>>EF5=, FD55G5FEO EFD><F5?LEF6> >G<EF=OE E>>DG65=<=. �4 

<><5=F 4>FG4?<74F<< EE5<O 6>4>E=4565=<O < 6>4>>F6545=<O, >G<EF>4 EF>>>6 6 ?. 

-?<F4 =5 ?D><76>4<FEO. 

� E6O7< E >F=>E<F5?L=> =5446=<<< ED>>4<< EFD><F5?LEF64 (2010-2012 7.7.), 

E<EF5<4 F5=FD4?<7>64==>7> 6>4>>F6545=<O <>D. �<4=O= ?. -?<F4, 6 >5M5<, 

=4E>4<FEO 6 G4>6?5F6>D<F5?L=>< E>EF>O=<<. $G=>F<>=<DG5F 6 =>D<4?L=>< 

D45>G5< D56<<5. �4=4>> FD55G5FEO 74<5=4 =4E>E=>7> >5>DG4>64=<O =4 

>4=4?<74F<>==>= =4E>E=>= EF4=F<<. �D><5 F>7>, 6 E6O7< E F5<, GF> 6 <>D. �<4=O= 

?. -?<F4, E ?><>MLN F5=FD4?<7>64==>= E<EF5<O 6>4>>F6545=<O >EGM5EF6?O5FEO 

F>?L>> ?D<5<>4 < FD4=E?>DF<D>6>4 EF>G=OE 6>4, 4> =4>>?<F5?L=OE 5<>>EF5=, 

FD55G5FEO EFD><F5?LEF6> >G<EF=OE E>>DG65=<=. �4 <><5=F 4>FG4?<74F<< EE5<O 

6>4>E=4565=<O < 6>4>>F6545=<O, >G<EF>4 EF>>>6 6 <>D. �<4=O= ?. -?<F4 =5 

?D><76>4<FEO. 

1.6 �F5=>4 557>?4E=>EF< < =4456=>EF< >5N5>F>6 F5=FD4?<7>64==>= 

E<EF5<O 6>4>>F6545=<O < <E G?D46?O5<>EF<. 

�5N5>FO E<EF5<O F5=FD4?<7>64==>7> 6>4>>F6545=<O 6 ?. -?<F4 (>64DF4?L=O5 

E5F<, 557=4?>D=O= >>??5>F>D, =4>>?<F5?L=O5 5<>>EF<) O6?ONFEO =5=4456=O<< < 

=5557>?4E=O<<, 6 E6O7< E ?>?=O< D<7<G5E><< <7=>E><, <7-74 G57> ?D><EE>4OF 

?>EF>O==O5 74E>DO FDG5>?D>6>44 < D>7?<6 EF>G=OE 6>4 =4 D5?L5D, G?D46?O5<>EFL 

G>474==OE >5N5>F>6 =4E>4<FLEO =4 =<7>>< GD>6=5, < >EGM5EF6?O5FEO F>?L>> ?GF5< 

?5D<>4<G5E><E 6<7G4?L=OE >E<>FD>6. �D< >FEGFEF6<< >G<EF=OE E>>DG65=<=, 

557>?4E=4O < =4456=4O M>E??G4F4F<O E<EF5<O F5=FD4?<7>64==>7> 6>4>>F6545=<O, 
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4 F4>65 MDD5>F<6=4O G?D46?O5<>EFL E<EF5<>= =5 6>7<>6=4. 

�5N5>FO F5=FD4?<7>64==>= E<EF5<O 6>4>>F6545=<O <>D. �<4=O= ?. -?<F4 

(>64DF4?L=O5 E5F<, =4?>D=O= >>??5>F>D, =4>>?<F5?L=O5 5<>>EF<, 

>4=4?<74F<>==4O =4E>E=4O EF4=F<O, >4<5D4 74L5=<O), O6?ONFEO =5=4456=O<< E 

F>G>< 7D5=<O, >FEGFEF6<O >G<EF=OE E>>DG65=<=, < =5MDD5>F<6=>EF< 

FD4=E?>DF<D>6>< EF>G=OE 6>4 46F><>5<?L=O< FD4=E?>DF><, 6 E6O7< E D<E>4<< 

=5E6>56D5<5==>= >F>4G>< EF>>>6, < >4> E?54EF6<5 ?>6OL5=<O D<E>4 D>7?<64 

EF>>>6 =4 D5?L5D. 

1.7 �F5=>4 6>745=EF6<O E5D>E>6 EF>G=OE 6>4 G5D57 F5=FD4?<7>64==GN 

E<EF5<G 6>4>>F6545=<O =4 >>DG64NMGN ED54G. 

%5D>E EF>G=OE 6>4 G5D57 F5=FD4?<7>64==O5 E<EF5<O 6>4>>F6545=<O 6 

>>DG64NMGN ED54G 6 ?. -?<F4 =5 >EGM5EF6?O5FEO. %F>G=O5 6>4O <7 

=4>>?<F5?L=OE 5<>>EF5=, ?D< ?><>M< E?5F<4?<7<D>64==OE 4EE5=<74F>DE><E 

<4L<=, ?5D56>7OFEO =4 >G<EF=O5 E>>DG65=<O 4DG7<E =4E5?5==OE ?G=>F>6. �F5=>G 

6>745=EF6<O E5D>E>6 EF>G=OE 6>4 ?D><765EF< =56>7<>6=>. 

1.8 �?<E4=<5 F5DD<F>D<= ?>E5?5=<O, =5>E64G5==OE F5=FD4?<7>64==>= 

E<EF5<>= 6>4>>F6545=<O. 

� 7>=5 =5 F5=FD4?<7>64==>7> 6>4>>F6545=<O =4E>4OFEO =56<?O5 744=<O, 

6<?O5 4><4 G4EF=>7> E5>F>D4. �4==O5 >5N5>FO >5>DG4>64=O =446>D=O<< 

G5>D=O<<, 6O7D55=O<< O<4<<, < <=4<6<4G4?L=O<< E5?F<>4<<. 

1.9 �?<E4=<5 EGM5EF6GNM<E F5E=<G5E><E < F5E=>?>7<G5E><E ?D>5?5< 

E<EF5<O 6>4>>F6545=<O ?>E5?5=<O. 

�E=>6=O5 ?D>5?5<O 6>4>>F6545=<O -?<F>6E>>7> E5?LE>65F4: 

- �>?LL>= ?D>F5=F <7=>E4 >64DF4?L=OE E5F5= < >4=4?<74F<>==>7> 

>>??5>F>D4 6 ?. -?<F4 (>D><5 <>D. �<4=O=). �?O D5L5=<O ?D>5?5<O, FD55G5FEO 

?D>6545=<5 D45>F ?> >4?<F4?L=><G D5<>=FG <?< D5>>=EFDG>F<< (>?D545?O5FEO 

E?5F<4?<7<D>64==>= >D74=<74F<5=), E ?D5464D<F5?L=>= D47D45>F>>= ?D>5>F=>= 

4>>G<5=F4F<<. 

- �FEGFEF6<5 >G<EF=OE E>>DG65=<= 6 F5=FD4?<7>64==OE E<EF5<4E 

6>4>>F6545=<O ?. -?<F4 < <>D. �<4=O=. �?O D5L5=<O G>474==>= ?D>5?5<O 

FD55G5FEO ?D>65EF< D45>FO ?> ?D>5>F<D>64=<N < EFD><F5?LEF6G >G<EF=OE 
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E>>DG65=<= =4 F5DD<F>D<< ?. -?<F4 < 6 <>D. �<4=O= ?. -?<F4. 

$����� 2. �����%/ %&�'�/% ��� %�%&��/ 

�����&������/ 

2.1 �4?4=E ?>EFG??5=<O EF>G=OE 6>4 6 F5=FD4?<7>64==GN E<EF5<G 

6>4>>F6545=<O < >F6545=<O EF>>>6 ?> F5E=>?>7<G5E><< 7>=4< 6>4>>F6545=<O 

�4?4=E 6>4>>F6545=<O =5 E>EF46?O?EO, F4> >4> >FEGFEF6GNF >G<EF=O5 

E>>DG65=<O. 

2.2 �F5=>4 D4>F<G5E>>7> ?D<F>>4 =5>D74=<7>64==>7> EF>>4 ?> 

F5E=>?>7<G5E><< 7>=4< 6>4>>F6545=<O 

�5>D74=<7>64==O= EF>> =4 F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4 >FEGFEF6G5F. 

2.3 %6545=<O >5 >E=4M5==>EF< 744=<=, EFD>5=<=, E>>DG65=<= ?D<5>D4<< 

GG5F4 ?D<=<<45<OE EF>G=OE 6>4 < <E ?D<<5=5=<< ?D< >EGM5EF6?5=<< 

>><<5DG5E><E D4EG5F>6 

� -?<F>6E>>< E5?LE>65F5 >FEGFEF6GNF 744=<O < E>>DG65=<O, >E=4M5==O5 

?D<5>D4<< GG5F4 ?D<=<<45<OE EF>G=OE 6>4. 

2.4 $57G?LF4FO D5FD>E?5>F<6=>7> 4=4?<74 54?4=E>6 ?>EFG??5=<O 

EF>G=OE 6>4 6 F5=FD4?<7>64==GN E<EF5<G 6>4>>F6545=<O ?> 

F5E=>?>7<G5E><< 7>=4< 6>4>>F6545=<O < ?> ?>E5?5=<O< E 6O45?5=<5< 7>= 

45D<F<F>6 < D575D6>6 ?D><76>4EF65==OE <>M=>EF5= 

�=D>D<4F<O > >>?<G5EF65 >F6545==OE EF>G=OE 6>4 74 ?>E?54=<5 7>4O 

>FEGFEF6G5F, 6 E6O7< E >FEGFEF6<5< >G<EF=OE E>>DG65=<= < ?D<5>D>6 GG5F4 

?D<=OFOE EF>G=OE 6>4. 

$����� 3. �$����� ��.��� %&�'�/% ��� 

3.1 %6545=<O > D4>F<G5E>>< < >6<445<>< ?>EFG??5=<< EF>G=OE 6>4 6 

F5=FD4?<7>64==GN E<EF5<G 6>4>>F6545=<O. 

%<EF5<4 
6>4>>F6545=<O 

$4>F<G5E>>5 
?>EFG??5=<5 
EF>G=OE 6>4 6 

E<EF5<G, <3/EGF. 

$4>F<G5E>>5 
?>EFG??5=<5 
EF>G=OE 6>4 6 

E<EF5<G, <3/7>4 

�?4=<DG5<>5 
?>EFG??5=<5 
EF>G=OE 6>4 6 

E<EF5<G, <3/EGF. 

�?4=<DG5<>5 
?>EFG??5=<5 
EF>G=OE 6>4 6 

E<EF5<G, <3/7>4 
<>D. �<4=O= 136,01 49644 200* 50000* 
?. -?<F4 236,02 9405 236,02** 9500** 

*<EE>4O <7 <>M=>EF< ?D>5>F<DG5<OE >G<EF=OE E>>DG65=<= 

** 6 E6O7< E >FEGFEF6<5< >G<EF=OE E>>DG65=<=, ?>4>?NG5=<5 =>6OE 45>=5=F>6 =5 ??4=<DG5FEO 

3.2 �?<E4=<5 EFDG>FGDO F5=FD4?<7>64==>= E<EF5<O 6>4>>F6545=<O. 
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%<EF5<4 F5=FD4?<7>64==>7> 6>4>>F6545=<O 6 ?. -?<F4 ?D54EF46?5=4 6 6<45 

>64DF4?L=OE >4=4?<74F<>==OE E5F5=, <47<EFD4?L=>7> 557=4?>D=>7> >>??5>F>D4 < 

=4>>?<F5?L=OE 5<>>EF5=. �G<EF=O5 E>>DG65=<O >FEGFEF6GNF. 

%<EF5<4 F5=FD4?<7>64==>7> 6>4>>F6545=<O <>D. �<4=O= ?. -?<F4 

?D54EF46?5=4 6 6<45 >64DF4?L=OE E5F5=, =4?>D=>7> >>??5>F>D4, >4=4?<74F<>==>= 

=4E>E=>= EF4=F<<, >4<5DO 74L5=<O < =4>>?<F5?L=OE 5<>>EF5=. �G<EF=O5 

E>>DG65=<O >FEGFEF6GNF, >4=4>> 654GFEO D45>FO ?> ?D>5>F<D>64=<N 

EFD><F5?LEF64 >G<EF=OE E>>DG65=<= <>M=>EFLN 200 <3/EGF., 74 EG5F ED54EF6 

>D456>7> 5N465F4. 

3.3 $4EG5F FD55G5<>= <>M=>EF< >G<EF=OE E>>DG65=<= <EE>4O <7 44==OE 

> D4EG5F=>< D4EE>45 EF>G=OE 6>4, 45D<F<F4 (D575D64) <>M=>EF5= ?> 

F5E=>?>7<G5E><< 7>=4< E>>DG65=<= 6>4>>F6545=<O E D475<6>>= ?> 7>44<. 

$4EG5F =5 ?D><76>4<?EO 6 E6O7< E >FEGFEF6<5< >G<EF=OE E>>DG65=<=. � <>D. 

�<4=O= ?. -?<F4 ?D>5>F<DGNFEO >G<EF=O5 E>>DG65=<O <>M=>EFLN 200 <3/EGF. 

3.4 $57G?LF4FO 4=4?<74 7<4D46?<G5E><E D56<<>6 < D56<<>6 D45>FO 

M?5<5=F>6 F5=FD4?<7>64==>= E<EF5<O 6>4>>F6545=<O. 

�5 ?D><76>4<?EO, 6 E6O7< E >FEGFEF6<5< ?>?=>7> F<>?4 ?D>F5EE4 

6>4>>F6545=<O (>FEGFEF6<5 >G<EF=OE E>>DG65=<=) 6 E<EF5<4E F5=FD4?<7>64==>7> 

6>4>>F6545=<O -?<F>6E>>7> E5?LE>65F4. 

3.5 �=4?<7 D575D6>6 ?D><76>4EF65==OE <>M=>EF5= >G<EF=OE 

E>>DG65=<= E<EF5<O 6>4>>F6545=<O < 6>7<>6=>EF< D4EL<D5=<O 7>=O <E 

45=EF6<O. 

� -?<F>6E>>< E5?LE>65F5 >FEGFEF6GNF >G<EF=O5 E>>DG65=<O. 

$����� 4. �$��������/ �� %&$��&��,%&�', 

$����%&$'�&�� � ����$����&�� ��.��&�� %�%&�� 

�����&������/ � %�&�� 

4.1 �E=>6=O5 =4?D46?5=<O, ?D<=F<?O, 7444G< < F5?56O5 ?>>474F5?< 

D476<F<O F5=FD4?<7>64==>= E<EF5<O 6>4>>F6545=<O 

�4 <><5=F 4>FG4?<74F<< EE5<O 6>4>E=4565=<O < 6>4>>F6545=<O 

-?<F>6E>>7> E5?LE>65F4 GF65D645==O5, 6 E>>F65FEF6<< E 74>>=>44F5?LEF6><, 

<<=65EF<F<>==O5 ?D>7D4<<O, =4?D46?5==O5 =4 G?GGL5=<5 6 ED5D5 

6>4>>F6545=<O 6 -?<F>6E>>< E5?LE>65F5, >FEGFEF6GNF. �D< D>D<<D>64=<< 
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<=65EF<F<>==OE ?D>7D4<< EE5<>= ?D54?474NFEO E?54GNM<5 =4?D46?5=<O 

D476<F<O: 

- ?D>5>F<D>64=<5 < EFD><F5?LEF6> =>6OE >4=4?<74F<>==OE E5F5=; 

- >55E?5G5=<5 >4G5EF64 >G<M5==OE EF>G=OE 6>4 6 E>>F65FEF6<< E 

FD55>64=<O<< $545D4?L=>7> 74>>=4 77-$� >F 10.01.2002 7>44 «�5 >ED4=5 

>>DG64NM5= ED54O»; 

- >55E?5G5=<5 GE?>6<= 4?O D476<F<O 6<?<M=>7> EFD><F5?LEF64. 
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- >DG?=O5 <EF>G=<><, F4><5 >4> F5=FD4?L=O5 >G<EF=O5 E>>DG65=<O 

>4=4?<74F<<, <>7GF >55E?5G<64FL >G<EF>G EF>>>6 4> =5>5E>4<<OE ?>>474F5?5= 

4?O E5D>E4 6 6>4=O= >5N5>F 557 >>474=<O 6D54=>7> 6>745=EF6<O =4 >>DG64NMGN 

ED54G; 

- EF5?5=L =4456=>EF< D45>FO F5=FD4?L=OE 6>4>745>D=OE E>>DG65=<= < 

EF4=F<= >G<EF>< EF>G=OE 6>4 >55E?5G<645FEO 100% D575D6<D>64=<5< < 

6>7<>6=>EFLN G65?<G5=<O ?D><76>4<F5?L=>EF< 74 EG5F =4?<G<O D575D6=OE 

<>M=>EF5=; 

- <4?O5 46F>=><=O5 <EF>G=<>< 6>4O (6>4>745>D=O5 E>646<=O, >>?>=><, 
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>>?>4FO), D45>F4NF 6 GE?>6<OE, >>744 6>44 <<55F ?>>474F5?< ?D<7>4=O5 4?O 

E>7O=EF65==>-?<FL56OE =G64, ?D< <7<5=5=<< >4G5EF65==OE E4D4>F5D<EF<> 

?>44645<>= 6>4O, =4 <4?OE <EF>G=<>4E =5F 6>7<>6=>EF< >>=FD>?O >4G5EF64 

?>44645<>= 6>4O, GF> G<5=LL45F =4456=>EFL 6>4>E=4565=<O < E>7445F 

=5?>ED54EF65==GN G7D>7G 74>D>6LN < 6<7=< ?N45=; 

- <4?O5 46F>=><=O5 =4>>?<F5?< EF>G=OE 6>4 (E5?F<><) >55E?5G<64NF 

=5>5E>4<<O5 DG=>F<< ?> =4>>??5=<N EF>G=>= 6<4>>EF<, => 6E?54EF6<5 

>FEGFEF6<O >>=FD>?O 74 E>EF>O=<5< >>=EFDG>F<= 6 F5G5=<< 6D5<5=< F5DONF 

75D<5F<G=>EFL, < >>47O64NF =574F<6=>5 6?<O=<5 6>4>=>E=O5 7>D<7>=FO < 

>>DG64NMGN ED54G. 

% F5?LN 6OO6?5=<O D54?L=>7> 45D<F<F4 <564G <>M=>EFO<< ?> ?>44G5 6>4O 

< ?>4>?NGU==O<< =47DG7>4<< ?>FD55<F5?5=, ?D>6545= 4=4?<7 D45>FO E<EF5< 

6>4>E=4565=<O -?<F>6E>>7> E5?LE>65F4. 

�?O 6O?>?=5=<O 4=4?<74 D45>FO E<EF5< 6>4>E=4565=<O 5O?< 

E<EF5<4F<7<D>64=O < >5D45>F4=O D57G?LF4FO ?>44G< 6>4O >F 6E5E <EF>G=<>>6 

745>D4 < ?>44G< 6>4O, 6O?>?=5= 4=4?<7 D45>FO >464>= E<EF5<O 6>4>E=4565=<O 

=4 >E=>64=<< ED46=5=<O =>D<4F<6=OE ?>>474F5?5= E D4>F<G5E><<< < >?D545?5=O 

?D<G<=O >F>?>=5=<= D4>F<G5E><E ?>>474F5?5= D45>FO E<EF5< 6>4>E=4565=<O >F 

=>D<4F<6=OE. 

� E>45 D47D45>F>< EE5<O 6>4>E=4565=<O < 6>4>>F6545=<O 6 -?<F>6E>>< 

E5?LE>65F5 5O? 6O?>?=5= D4EG5F FD55G5<OE <>M=>EF5= 6>4>745>D=OE 

E>>DG65=<= < >G<EF=OE E>>DG65=<= >4=4?<74F<<. 

$476<F<5 6>4>E=4565=<O < 6>4>>F6545=<O 6 -?<F>6E>>< E5?LE>65F5 4> 2030 

7>44 ?D54?>?4745FEO 547<D>64FL: 

- =4 <E?>?L7>64=<< EGM5EF6GNM<E E<EF5< 6>4>E=4565=<O; 

- =4 ?D>5>F<D>64=<< < EFD><F5?LEF65 =>6OE <47<EFD4?L=OE 6>4>?D>6>4=OE 

E5F5= >F 7. �D4E=>ODE>4; 

- =4 ?D>5>F<D>64=<< < EFD><F5?LEF65 E5F5= 6>4>>F6545=<O; 

- =4 ?D>5>F<D>64=<< < EFD><F5?LEF65 >G<EF=OE E>>DG65=<= 6 ?. -?<F4 < 6 

<>D. �<4=O= ?. -?<F4. 

�D< ?D>6545=<< <5D>?D<OF<= ?> 6>EEF4=>6?5=<N ?>?=>F5==>= D45>FO 
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E<EF5< 6>4>E=4565=<O < 6>4>>F6545=<O, <>6=> ?>?GG<FL E?54GNM<5 D57G?LF4FO: 

1. &5E=>?>7<G5E><5 D57G?LF4FO: 

- >55E?5G5=<5 GEF>=G<6>EF< E<EF5<O >><<G=4?L=>= <=DD4EFDG>FGDO 

?>E5?5=<O; 

- E>744=<5 =4456=>= >><<G=4?L=>= <=DD4EFDG>FGDO ?>E5?5=<O, <<5NM5= 

=5>5E>4<<O5 D575D6O 4?O ?5DE?5>F<6=>7> D476<F<O; 

- 6=54D5=<5 M=5D7>E55D574NM<E F5E=>?>7<=; 

- E=<65=<5 ?>F5DL >><<G=4?L=OE D5EGDE>6; 

- E=<65=<5 =574F<6=>7> 6>745=EF6<O =4 >>DG64NMGN ED54G < 74>D>6L5 

G5?>65>4. 

2. %>F<4?L=O5 D57G?LF4FO: 

- D4F<>=4?L=>5 <E?>?L7>64=<5 ?D<D>4=OE D5EGDE>6; 

- ?>6OL5=<5 =4456=>EF< < >4G5EF64 ?D54>EF46?5=<O >><<G=4?L=OE GE?G7. 

3. ->>=><<G5E><5 D57G?LF4FO: 

- ??4=>6>5 D476<F<5 >><<G=4?L=>= <=DD4EFDG>FGDO 6 E>>F65FEF6<< E 

4>>G<5=F4<< F5DD<F>D<4?L=>7> ??4=<D>64=<O D476<F<O ?>E5?5=<O; 

- ?>6OL5=<5 <=65EF<F<>==>= ?D<6?5>4F5?L=>EF< 4?O >D74=<74F<= 

>><<G=4?L=>7> >><??5>E4 ?>E5?5=<O. 

$47D45>F4==4O EE5<4 6>4>E=4565=<O < 6>4>>F6545=<O 5G45F 5657>4=> 

4>FG4?<7<D>64FLEO < >4<= D47 6 ?OFL ?5F >>DD5>F<D>64FLEO. 
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�D<?>65=<5 1 
�5EE>7O==O5 E5F< 6>4>E=4565=<O < 6>4>>F6545=<O 

-?<F>6E>>7> E5?LE>65F4 
 

7 

?/? 
 

�4<<5=>64=<5 GG4EF>4 55EE>7O==>= E5F<, <5EF> 

=4E>645=<O 

 

�D>FO65==>EFL (<5FD>6), 

4<4<5FD GE?>6=>7> ?D>E>44 (<<), 

<4F5D<4?, >>?-6> >>?>4F56 (LF) 

1 %5F< 6>4>E=4565=<O D4E?>?>65==O5 ?> 44D5EG: 

�D4E=>ODE><= >D4=, �<5?LO=>6E><= D4=>=, 4. �<=<=> 

G?. �<L=564O, G?. �=G>>6OE, G?. �>?<==4O, G?. 

�G>>64, G?. �4?44=4O, G?. �<<=OO, G?. �D4E=>ODE>4O, 

G?. �G7>64O, G?. �54<F<=E>4O, G?. �<=<=E>4O, G?. 

�75D=4O, ?5D. �E5==<=, G?. �>?564O, G?. �GL><=E>4O, 

G?. %<5<DE>4O, G?. %>6E>7=4O, G?. %>?=5G=4O, G?. 

%F5?=4O, G?. %FD><F5?L=4O, G?. &D4>F>64O, G?. 

&65F>G=4O, G?. .6=4O, G?. /5?>=564O, G?. .5<?5==4O 

>F ��-116 4> ��-131 

�5M4O ?D>FO65==>EFL E5F5= 3 14137 <. 

�<4<5FDO < ?D>FO65==>EFL >F45?L=OE 

GG4EF>>6 E5F5=, >?D545?5=O 

?D<=F<?<4?L=>= EE5<>= E5F5= 

6>4>E=4565=<O 4. �<=<=>, <4F5D<4? 

E5F5= 6>4>E=4565=<O 3 ���. 

�>?<G5EF6> >>?>4F56 3 321 LF. 

2 %5F< 6>4>E=4565=<O D4E?>?>65==O5 ?> 44D5EG: 

�D4E=>ODE><= >D4=, �<5?LO=>6E><= D4=>=, 4. 

�G74G56>: G?. �>EF>G=4O, G?. �>D>6=4O, G?. �4D5G=4O, 

G?. �5?5=4O, ?5D. �?G5=O=, G?. �5D<>=F>64, G?. 

�><>=>E>64, ?5D. �54<F<=E><=, G?. �>?>456=4O, G?. 

�75D=4O, G?. �>?564O, G?. %>6E>7=4O, G?. %G6>D>64, G?. 

&65F>G=4O, G?. &5=FD4?L=4O, G?. ,>>?L=4O, ?5D. 

,>>?L=O=, G?. .6=4O, G?. .=>EF<, G?. %454D>6E>4O. 

�5M4O ?D>FO65==>EFL E5F5= - 10815 <. 

�<4<5FDO < ?D>FO65==>EFL >F45?L=OE 

GG4EF>>6 E5F5=, >?D545?5=O 6 

?D<=F<?<4?L=>= EE5<5 E5F5= 

6>4>E=4565=<O 4. �G74G56>. �4F5D<4? 

E5F5= 6>4>E=4565=<O 3 ���. 

�>?<G5EF6> >>?>4F56 126 LF. 

3 =4DG6=O5 E5F< 6>4>>F6545=<O 3 1 >G5D54L, 

D4E?>?>65==O5 ?> 44D5EG: �D4E=>ODE><= >D4=, 

�<5?LO=>6E><= D4=>=, ?. -?<F4, G?. �>D>6=4O 

?D>FO6U==>EFL 3 1.731 ><. 4<4<5FDO 

FDG5 160, 225, 280 << 

4 =4DG6=O5 E5F< 6>4>>F6545=<O 3 2 >G5D54L, 

D4E?>?>65==O5 ?> 44D5EG: �D4E=>ODE><= >D4=, 

�<5?LO=>6E><= D4=>=, ?.-?<F4, G?. �47>D=4O, 

,<D>>4O, %<5<DE><= FD4>F, ?5D. �D<5=>= 

?D>FO6U==>EFL 3 2231.0 <, 4<4<5FDO 

FDG5 160, 225, 280 << 

5 =4DG6=O5 E5F<  6>4>>F6545=<O 3 3 >G5D54L, 

D4E?>?>65==O5 ?> 44D5EG: �D4E=>ODE><= >D4=, 

�<5?LO=>6E><= D4=>=, ?.-?<F4, G?. �>D>6=4O, G?. 

&5=FD4?L=4O, G?. &<E4O 

?D>FO6U==>EFL - 4801.0 <, 4<4<5FDO 

FDG5 160, 225, 280 << 
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Пишущая машинка
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Пишущая машинка
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User
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User
Прямоугольник
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Пишущая машинка
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User
Пишущая машинка
Принципиальная схема сетей водоснабжения от ПНС2 до п. Элита
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Пишущая машинка
 

User
Пишущая машинка
2ø160 L=5200 м

User
Пишущая машинка
2ø160 L=5800 м






